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Time Allowed : 1:30 p.m. to 4:00 p.m. (272 Hours) Maximum Marks : 135 marks
(1 mark for each question)

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from
1-96 are printed in order in the Question Booklet and ensure that the OMR Answer-Sheet
belongs to him/her only. In case of any discrepancy, immediately inform the Invigilator
to replace your Question Booklet.

IMPORTANT INSTRUCTIONS

+ Do not open the Question Booklet before 1:30 p.m. in the Examination Hall.

+ Read the questions carefully before marking the right answer with blue/black
ballpoint pen only in the appropriate circle of the OMR Answer-Sheet, as firstly there
is provision of negative marking of 0-25 mark per Question for wrong answer as well as
for selecting more than one option of a question, and secondly no extra OMR
Answer-Sheet will be provided for any mistake or correction.

4+ In case of use of Non-Standard OMR Answer-Sheet, the candidate must properly write
his/her Roll No., Question Booklet Serial No., Question Booklet Code in the space
provided in the OMR Answer-Sheet by shading and by writing in alphabet and
numerical on the front page as well as on the back page. Otherwise the OMR
Answer-Sheet will not be evaluated.

+ Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their OMR Answer-Sheet to the Invigilator after the completion of the
Examination. Cases where a candidate has not signed while submitting the OMR
Answer-Sheet, he/she shall be treated as absent.

+ Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet.

+ The candidate should make sure that the Question Booklet No. and corresponding
Question Booklet Code is properly written/shaded in the OMR Answer-Sheet by
him/her. For example, in filling up the Question Booklet Code, if the candidate gets
Question Booklet Code ‘A’, then he/she should fill up ‘A’ in the box provided in the
OMR Answer-Sheet and also shade the circle ‘A’ in the OMR Answer-Sheet.

+ Candidate should do all the necessary rough work on the Question Booklet in the space
provided. Rough work should not be done on the OMR Answer-Sheet or on any other paper.
If any rough work or overwriting is done or whitener is used on the OMR Answer-Sheet, the
OMR Answer-Sheet will not be assessed.

+ In case of any discrepancy or confusion in the medium/version of the questions, the
English version will be treated as the authentic version.

+ No candidate will be allowed to leave the Examination Centre during the examination hours.

4+ Any candidate found using unfair means including carrying restricted items like mobile
phone, calculator or any electronic gadget or objectionable materials, etc., which are not
allowed in the examination halls/rooms shall be disqualified.
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OMR TEI°[@ *[F FIF Wows [rwiicn fifvs = '3 @ 2 =T 1-96 & el ol &
PR 27l 02 Wt W Fifve 9 A (1 OMR $@I7[@3e (@99 (969 A | (Fl 16
e e seFdle MIwas TFere S 2e@de Few FQ a3 |

gyl fenaat

+ ffer 1:30 @R welce epTew AT FFe A |

+ OMR T@I°[qq TARL JECBMS Aell/F N ARG (717 w5 Tedeo! fofes I wsies 2mes!
AR = 76, T 2Acs 2wl 2HF $o1 Te1 A WA Gbiots oS [Fm Teq FEfoa
TR A 025 Je¥F 79 AT o® Torwe $ol =@ A wg Feace wfofe Fiel OMR
Teaela wal w2’ |

+ Non-Standard OMR T@I7g J92RE (Fae ~AFIAE IRALSIE 0SEF @&l 754,
PFITO] TG 794, ANFIFe] 061 OMR Sedoiaq e iz ¥'a1 s «fom =i
YR 2P W AA1eT 7o @bl I BE HAPHE R OMR Teriaxs AoFeia [ FRa
=7 | Sl OMR T@<7[@q Eniae 1 7=’3 |

+ A NI T SefEfe/ e dge qaR wrRR SR AR, dUwEE (oSt
JRFETS SPT 229 FIF RS oF GO OMR Tea7/@ Wwas ol MR ST9Es | (@I
QR OMR Te37[@ &l fRq e M SRR FrFe 9, (SR 031 (S8R S iFe
Ffer Reafos 277 |

+ AR e Wyl e I%e (ostE (@E TEe R R wfee |

+ AW FPve @[ The ATe pFiFed TH1 W AR FFes § T w=Col OMR $EIo@
Mz ofze fordl = | Twimemael, FFed T o[ FAN WS, A o= F4
FFed T ‘A’ e OMR Ted+iad Fifng oize ‘A’ iR =nifom =i e g ‘A’THl
FH FEA AMA |

+ AT TR 43°[ AEEA U691 (rough) FIN AXFIFeS W IFecz FR7 AfRE | AT
541 (rough) T OMR T€I7[q Il T (FICAl 4197 F9ME© F9 GTRA1RE | OMR Tea7iqw AW
@2 51 (rough) I ~REFRIE FCq =[N 390 R T2 IFE, (SFGARTH (91 OMR TSI7[@q
TR 9 29 |

+ N YN [ AFRTS @I 1R Fomife A Tk @ e el 2 2Ers
AFINGIFR 2Fo wF @1 4 F =7 |

+ S BT A SRS (P AR ARECTT G AR St frE 29

+ AFEFIALRAS ARF 2o /TS Rm A @A (R F, (FAPCALS A (P 47
e AR A1 wefeeTe 7 “[reemce fEe seEte W@ 92’9 | A @ A e
TR SGeTE FCq A SUS Teay 1 SRR REpEE Tekdl 909, (9% (906 Sl e
e <1 279 |

[Of0]

/2 /Paper-11/E 2 )



OMR Tea°[@s *7° TR i A= TR oo 2o =3 @ dei@ 1-96 1M e
Pl FARPIE Yoo 2R G2 F5e F90s =09 (1 OMR TE=7[@li (e OIF &) | (ICeT 2=
feoms e wif<ercs Narsece saste FiEc emieiafs we e T |

gl PTER

+ OeEiE 1:30 o o 2o ARw e e o |

+ OMR T Itad I9Re Jefbrs Mel/Fe IS ¢oF 79l w5 Sedn Hiws Faa= = 2mif
AR #IC8 (T, FA9 22e 2foh eF $o1 Ted (e[| & ¢ qFd e 9w Ted
oo+ &0 0-25 YeNF 777 AT G2 Moo $ol =@l A WF T4 &) (FICAl o
OMR ¥es7[@ (MeTl T = |

+ Non-Standard OMR T&3°[@ IR CFCa AFIACE TR OO @ 797, PI2RFH
T T, ZeRTE el OMR Sesenad FiMe Ziew FIel F90o 70 92 AT ol e
RGP @I I G FARIPPF o OMR TSl AT A FACo T | Sall
OMR S@a°[(qd JehrEe Sl 24 1l |

+ ARwRimece FEwEs oen TeRls/ e it @R 1 T 7R, AN O AR T
TP 217 I T G9% @era OMR Tedel@ MR=we ol (rea N | (I AR
OMR Teq7[@ & (Req Y AW FEO<R FrF 7 T, OIRee I SEAFe el S0 T
el

+ RRRCE e (redl PR B AREREE S| @ W SRR ferace 2

+ WA TFve =eq e ACS ehyead T @R ML PeEd (S TEEHh OMR TEAtad
e gt o1l =W 1 TmRAcEel, 2eEd (FIC GF SN T, AMWAA NS ameiad
@FC ‘A’ 4@ OMR Seaeicas fafwe g ‘A’ forwce =@ @32 ffMe e ‘A’f Fien Facs
A |

+ I A 40 AGEET 7! (rough) I LA ST TG FACO KA | 2RI
T8l (rough) F1% OMR T@7[@ Al 7 (FICN GFCIE F90CH FACO AR 11 | I 2[FrFiRh @2
T8l (rough) F& OMR TER9[(q ¢ A1 AW q8 AR2F I, O (12 OMR Tea7icad
TR P B A

+ AT YN A AFA (@A (T P 7w [ @R SPRY =@ @G AFA e
Ao wH A oA FA A |

+ oREF DS (I ARFIRACS AP Spiel PG SRS (RS 7 Al |

+ JREFRoE AREE 2 /Few @i [Rm TRl @ (R I, SR 9aR (I
(e amiees 1 Sefesa Nl 2oy 92 A SRRNS (redl 7 A1 | ARERIAIoE A el
SPIR T SETT FACS (741 T AN SR AR T Tl AR PR T Sol, o
SICrE 19 ARl Al 2 |
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OMR T foemg@t ong EemaEE femat, foefosn sEt wa@ty g=mme, 1-96
et foeew d@ify fosmeme wiid fs@EE € o OMR R faemsan mef amamaea’ o
TYTEE! FIURTT FHARNA | HETRER dd-s9 AiHsAT ity foamemat JaEn e oma™
At amear ot

LIEIREDIC]

+ gentat 1:30 fonfa Rem Tty et smaee @y wa qrET)

+ OMR T faemef Samm swamE e /meam aoug<e wamst 1o et fE s
R wiforet JieTE WEETE AR, AEET ST TEE e S i A amem
AT WA FIRA A aoa T ara™ 0-25 e IR 9TnE TR Aferra: MRt
TTATEAT TAT e WTATHAAT AT WiHE! IHT T &6l 3™ SEE T87)

+ Non-standard OMR fa faez sl fSfaem fenfern @@ el @ T,
Titar feremst wift 7., @ity foemsi w=Et OMR i foemefR e SErmrema e
(3rfemT) foIRA e oy WTATHAT AR | ASTsen OMR TR feeg@t stawg Aeam
WHE ST

+ foenferm @ af? g A e 3TN @R geAT TEsT M SRR SRE
3a foamE 9HE TEGERTE gFE geTeEE /e foersaE, SR [ge #eE, STESTE s
@ TR OMR R faemeg@t 1aa™ gq@ | OMR b e e o fesforn
ufe s foml SAHSEE SEgHA BT THEA™ ST |

+ Tty foergama g e Sermere fasiirn e et @ T e |

+ Hify foersi v o \@ifa et o et OMR R faemef sremm s
oty v ferenferan e sAwEn e i el wifs eei w5 snd wemmEE
Tara oo wAa |ty oot ws ‘A’ SEeen OMR fRa el srem
ST ‘A’ AR A o e dEA ‘A M @At AT |

+ forenforpr midst T@mf T ST @A TEAREEE (rough) @G Gty feemst g
SIERTRTEE! @Al AE | SSiasr e JeEeEE a6 foors v fofe g
TEmH e o wema geaE Tt R feegae 9 @ aREREE (rough)
Tt e wemeen e foRen foRfd (overwriting) @remdieal TeT R e
(whitener) OMR & foega wFlsen & OMR 51 foeg@t TeA™ S =11

+ ity e ot Tan wEmEAETE aETER TR gt e g  eaEE = St
T Tl BT i foegEa 9 gAam TEHREET @@ A |

+ NG WAGET IR Ture Yaa fororgt stsmefafa e aemf =ty e[ S T2

+ TSRt /@emETE AReT TSt g9 AT Ja1 SR HeTg &, shaigeled T fofe TamH wemhR
T ol sTeriee faf fasom gman gFmE S |
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THHTIER Giea & qen I8 oft gAfdm w & 76 OMR IW-u=e &ae 349 & watea 21 foret oft
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+ ITTE 1:30 99 ¥ UEH WeN-%e W Ay-YiEaswt T @i |

+ OMR SW-UT® & IUGH g9 W &l IW I el /Fiet qier-warge uq o fafga & o gd
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+ TR-AM*% OMR 3IW-UTk & TgER & HMEe °, gdeneff o srfAema: soar o 9,
T -Gt AT, T9-Jieaeht i OMR SW-UAE # G8 T3 T § SR T SAT
AUT TH AUHTAT 3R GEATHE T OMR IT-UTeh % T 3R N3 &% ot ° feraan grm)
3T OMR ITR-UNh 1 TeAThd A&l ThAT AT |

+ gdenfeat = Ffiges grr & wi sufeufa /A sfie W S 9R gETer i g el ar S
wligneff qhen-we § Ao e W o S a9, 9u1 gEd 9’ Fde® w1 OMR IWR-US® o &
T | 3R forelt adiemeff 9 OMR 3IW-u=ek Hiud o<k g&dter Tai foam, af 30 Agufeda wHT Se |

+ yE-giereR § ffer wm W wlarnedi o Id TR wes ' 4 faw|

+ Tdigmeff 98 GHTYM o of Toh 3k gNT foT@ TRt W9 -Yieaent ST a2l d T9-Yedaeht
HIE OMR 3SW-UFF U TE B| IS0 TWEU, TyA-Yedeht *ig &l W dHA, It udrerefi
i TyA-YfEaert @we ‘A’ fiel, @ OMR SWR-wsreh @ o 73 «tfem ® ‘A’ for@mn g qen
OMR SW-U=h # ‘A’ Sl STI(TRd HET A

+ weeff @t @@ W (rough) FE TH-YEER § ¥ ™ TE W R R W FF OMR
SW-T A1 A fhdl g & S W & A Fhil| e g 6 A I Aew@zien OMR
IR-A T TR 7 =1 foisTeh ot =T foRam TR, @ OMR 3TR-UAeh o1 Hodiehd el foha STa |

+ Tl o Hreaw /EERtr ® foRHEt oft feremfa o wm <y fearfa & eisht weentor € v g
+ wlen & e TRt oft wheneff @0 when s wied i rgwfa T R

+ e i wlienel Teq Rl AU gY TR ST 2 AU Wiqated QR WA S HEEd B,
Shegpeied A1 ToRel T ol SEffaeh AT 312 STdiiss g 3Tfe, fSraeh! adien gia/%e o STgAfd
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1. The length and breadth of a room are 8 meters and 6 meters respectively. Tom runs
along all the four walls and finally along a diagonal in order to catch Jerry. How
much total distance is covered by Tom?

(A) 38 meters (B) 10 meters

(C) 14 meters (D) 28 meters

1. 961 (IR trdfy o<e 2% @ew 8 o o<k 6 5 | 5oy (wdie 4f9ateT (PO biRed s (rare
PICICT S SECTTS b1 F9f9 1o (A1 AR | B T2 61w g Sioam piace 2

(A) 38 fibR (B) 10 fio™
(C) 14 fBM™ (D) 28 5[

1. 93 9039 o7 @ 2% I 8 b @ 6 oI | 5 56 ORe (908 (TeR @3k SRCIE (ST
1 & 90 w9 T 306 AW | BN (W T 779 AGGH R 2

(A) 38 fibE@ (B) 10 fom@
(C) 14 fom (D) 28 fioE
1. A9 @A @ R SR HIRE 8 iR o 6 fier| o @ ARff o @wg =
AT WRATCATTET 27 Sifw gaAl gri | 291 T s TS SRl ?
(A) 38 fier (B) 10 fier
(C) 14 fier (D) 28 fier
1. T R A Far 3R AerE Fwue 8 Wiet iR 6 Hiew ¥ 9w whed % v ofw =W dan W
3R 31d | weh forepol W Eigen €1 2 A o forat gt a9 <hi?
(A) 38 Hix (B) 10 #ieX
(C) 14 Hiex (D) 28 Hiex

2. Pradip has a brother Rajiv. Pradip is the son of Kunti. Upendra is Kunti’s father.
In terms of relationship, what is Rajiv of Upendra?

(A) Grandfather (B) Grandson

(C) Maternal uncle (D) Nephew
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2. M7 9o STy (20 TG | 2T T8 2@ | Tem FIF 1 | T (Fqe G S

2’37
A) I (B) =if®
(C) == (D) ®Ifee
2. MR 9 ©f2 A& | 2 PIW C=eA | Teotm FI Sl | A S (A0 & Seorwd
237
(A) ez (B) =fe
(C) = (D) =i
2. yfeuer ufsre g foer/wemg 31 wfem i o) susen $i<f fown steen ufsen susf @
EIRIK
(A) Torsit (B) fToreiten
() fomms (D) forme
2. YEI9 A Uk W5 TS @ | TEd, el 1 G | 3R, Fl o Uar ¢ | fwd o AW | TSAE, U
FTE?
(A) =TeT (B) dran
(C) =™ (D) SIS

3. What three digits would be in the middle of the result when the smallest possible
number is subtracted from the largest possible number created using all the digits

of 49723?
(A) 739 (B) 389
(C) 954 (D) 395

3. 49723 MBI AGIBCAR FeF I2F F(F IR 2171 SBIBOLF TeF FRANCHIE 210 SGIBEF AF
SRATCH! TGS SR oI FARFACOR We fofelbr =i F 292

(A) 739 (B) 389
(C) 954 (D) 395
3. 49723 MM ATTAL BRF IR I¢A (OfF T HYRY IZSH TR (AP IR FUew IR
RGN FCA 21 FARRCAT TR oD ST Fl 27 2
(A) 739 (B) 389
(C) 954 (D) 395
EIFRE
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3. 497233@ I M TARHEERE AHH TRGAE safgesn M smaffwe safgea
gEfee s g A JE Al Jem TSR i /1 S

(A) 739 (B) 389
(C) 954 (D) 395
3. S9 49723 & Al A HT IWAN Feh SIS TS T TS GIfad T A U T B Gl
T T § St 7, O uRom & off" 4 wH-9 d= o7 g e
(A) 739 (B) 389
(C) 954 (D) 395

4. Find the odd one out.

(A) Kilometer (B) Hectometer
(C) Decimeter (D) Perimeter
4. <(fel ol [ SRrmes |
(A) TecerfoE (B) =FIREE
(C) cefofbm (D) ¢RfGE
4. e = os (@9 P |
(A) frcefE (B) =IO
(C) CoRifbE (D) CofRER
4. 95 @l fag |
(A) foperfirer (B) ¥'firR
(C) =fafier (D) uftfier
4. 3TEA W8 I UEEH |
(A) foratfier (B) THRMHIR
(C) =Hmx (D) ufafie

5. Identify the pair which is not similar to others.
(A) Football : Goals (B) Cricket : Runs
(C) Table Tennis : Score (D) Volleyball : Points
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5. IR O1Ce N6 w1949 (@R e 39 |

(A) Fo : o3 (B) fercb : 9
(C) COIETCH= : BT (D) S&RE : o2
5. @ (qrui e F @ = (@eisir Trel e T w7 |
(A) FoI9 : (& (B) &b : A9
(C) GR@ GFF : @[ (D) Sfee : D

5. MEEH & ST [EAHR aEfE TE67
(A) Fead : T (B) fehehe : T
(C) et af : = (D) wfere : wg=|

5. 30 SIS H qgaH H, I gEU ok g9H TE 2|
(A) Feard : M (B) fehehe : &
(C) = 2 : R (D) ictiaict : 3T

6. What is the minimum number of straight lines required to draw the following

figure?
(A) 16 (B) 14
(C) 11 (D) 12

6. 278 D@l S SR JeTod [RFAFTCIeT AT TS (2R 2

(A) 16 (B) 14
(C) 11 (D) 12
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6. 278 Hafb W FICS PoToN F FLCRE L ?

(A) 16 (B) 14
(C) 11 (D) 12

6. HTETRE EF™ He@! I THIGATE o off gl A ¢

A) 16 (B) 14
(C) 11 (D) 12

6. & TS AR I S o o0 sTawaes dieht {@nsti i =Had gen fhat 27

(A) 16 (B) 14
(C) 11 (D) 12

7. What would come next in the following series?
AN, CP, ER, ?

(A) GT (B) FS

(C) GS (D) FT

7. S *BEICOMS “[[/FS! “MCHl & N1f2d 2
AN, CP, ER, ?

(A) GT (B) FS
(C) GS (D) FT
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7. T RIS AR Wb SO 2
AN, CP, ER, ?
(A) GT (B) FS

(C) GS (D) FT

7. AN, CP, ERf 3@ @1 %7
(A) GT (B) FS

(C) GS (D) FT

7. AN, CP, ER & o€ &1 3TTTT?
(A) GT (B) FS

(€C) GS (D) FT

8. Which set of letters would continue the following series?

MAD, NAE, OAF, PAG, ?

(A) QAE (B) RAH

(C) RAE (D) QAH
8. 2MG (FIICH! SM¥TF (SNNCH o XRIECH! SN (& I ?
MAD, NAE, OAF, PAG, ?

(A) QAE (B) RAH

(C) RAE (D) QAH

8. SRR (I M2 HfTS XeeMbee bl A 2
MAD, NAE, OAF, PAG, ?

(A) QAE (B) RAH

(C) RAE (D) QAH
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8. TEMM o9 gl YU ™ B MAD, NAE, OAF, PAG @ 3T SAT@m=?
(A) QAE (B) RAH
(C) RAE (D) QAH

8. & T e w1 FH-W TS MAD, NAE, OAF, PAG, ? S@dll &l S Wam?
(A) QAE (B) RAH
(C) RAE (D) QAH

9. What would be the next in the following series?
144, 100, 64, 36, ?
(A) 25 (B) 49
(C) 81 (D) 16

9. R XRYFNHR ! MAC fF 272
144, 100, 64, 36, ?
(A) 25 (B) 49
(C) 81 (D) 16
9. Teoa WeEMfoa 7 WA’ F 24 2
144, 100, 64, 36, ?
(A) 25 (B) 49
(C) 81 (D) 16
9. TEME BHT HIH 3ATE O IRTH?
144, 100, 64, 36, ?
(A) 25 (B) 49
(C) 81 (D) 16
9. 144, 100, 64, 36, ? &l § AT T BAM?

(A) 25 (B) 49
(C) 81 (D) 16
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10.

10.

10.

10.

10.

What would fill the empty slot in the following series?
AAK, EYM, IWO, JUQ, USS

(A) P (B) R
(C) O (D) T
S X[EFIGTS A 4N FICO! [Paeq 9 9 2
AAK, EYM, IWO, OJUQ, USS
(A) P (B) R
(C) O (D) T
OO [&FIGCS AT XD FICTH ==l 7o 2¢3 2
AAK, EYM, IWO, OJUQ, USS
(A) P (B) R
(C) O (D) T
TR ATE ! HIS 377g @™ ST 7
AAK, EYM, IWO, (JUQ, USS
(A) P (B) R
(C) O (D) T
@ T J@e AAK, EYM, IWO, (0UQ, USS H ek T @l 1 Tam?

(A) P (B) R

(€) O (D) T
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11. Which of the following numbers is incorrect in Roman?
(A) Twenty-nine : XXVIIII (B) Fourteen : XIV

(C) Forty-eight : XLVIII (D) Twenty-one : XXI

o~

11. RIS PRCET R AL & 02 SICE 2

(A) Tl : XXVIIIT (B) 0o : XIV

(C) =Mobfarg : XLVIII (D) &&= : XXI

11. SCoq (I TR NI el ?
(A) S : XXVIIII (B) (O : XIV
(C) =GBfEM : XLVIII (D) @ : XXI

11. TR o TH gRAT MR M7
(A) AR : XXVIIII (B) &t : X1V

(C) ofS 3157 : XLVIII (D) afs@ : XXI

11. U9 # fFefafga 8 @ F9-6 @ Tera 27
(A) I : XXVIIII (B) e : XIV
(C) Tearet™ : XLVIII (D) THE : XXI

12. Which of the following sequences would be meaningful for the given words?

1. Word 2. Paragraph 3. Sentence 4. Letter S. Phrase

(A) 4,2,5,1,3 (B) 4, 1,5, 2,3

€ 4, 1,5,3, 2 (D) 4,1, 3,5, 2
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12.

12.

12.

12.

fraferre (Rl @ 2me e e Sl 2792

1. *% 2. RN 3. I 4, 3of 5. A
(A) 4,2,5, 1,3 (B) 4,1, 5, 2, 3

€ 4,1,5, 3, 2 D) 4,1, 3,5, 2

oA (I T 2re wfor & w2l 272

1. *% 2. S[CRN 3. IR 4, 3of 5. JRTHA
A) 4,2,5,1,3 (B) 4,1, 5, 2, 3

C) 4, 1,5,3,2 (D) 4, 1, 3, 5, 2

TR o9 Gieid BT 3Ty T S ?

1. 9e&e 2. Wi 3. oy 4, @ 5. oYl @ikal
A) 4,2,5,1,3 (B) 4, 1,5,2,3

€ 4, 1,5, 3,2 D) 4, 1, 3, 5, 2

Fafafaa 9 9 S9-11 %9 fou 7 veei & fou anefes 27

1. IS 2. WUH 3. 9 4. AW 5. ST
(A) 4,2,5,1, 3 B) 4,1,5,2,3
(C) 4,1, 5,3, 2 (D) 4, 1, 3, 5, 2

13.

13.

Rani is facing East and turns towards her left. Then she stretches both of her
hands. Which direction is her left hand pointing to?

(A) West (B) East

(C) North (D) South

AT 7 itet I3 SR QT gfem | ©F P wiR qoeE zre @ e 1 gfen eiRe
JIETS (I IeaT (Bl =g 2

(A) “AF5x (B)

(C) T&q (D) W
OFCsi0
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13. AR ~&We 4 0 W =R O O I e (T T | SRA1Cs (7 ©F 21 qf6 (T 409 | ©fF
¥ 2 (Sl e o 90z 2
(A) A= B)
(C) Tex (D) wEpel
13. T AFST 7Rl ST T8 STerrars fifeel | af s foen mafy s wradE wamEt | &
NG STETea Seife fefoeai?
(A) G (B) TSI
(C) Ty (D) AT
13. T gd il AR 9@ © 3R vl SR AR gedt 71 TR a8 o1+ ST €19 Shell odt & | 39eRt amt
g1 form famm i SR g9 R @ RY
(A) = B) =
(C) IW (D) aferor
14. Statements :
1. Rajib has a bruised knee.
2. Athletes very often get hurt at sports.
Which of the following can be inferred?
(A) 1 is the effect of 2 (B) 2 is the effect of 1
(C) 1 is independent of 2 (D) Specific conclusion is not possible
14. 3fe :

/2 /Paper-11/E 16 (=

1. TGS PO SO 2R |

2. (YEILIATRCE IR (YeTO Qo 27 |
fagformes 71 fFaferfe (PIee! SR i =i 2

(A) 1 C2(® 27 2o/ (B) 2 (&= 19 Zo”

(C) 1, 23 7}l Fog (D) TIWE Prars sws 7=



14. 3fe :

1. &I 2Hee O TR |

2. ICfwl 2R CETE SIS #[ |
fRfssfm 7= Teva @FHee Toare e I7 2

(A) 128 2-97 FeTel (B) 2 2 1-97 FeTel
(C) 1, 2-93 (AT FAM (D) AFE Pracs Toiate 2eq 78 T
14. gf‘aqﬁt :

1. TRNen gFYeE 3g "l |
2. THI-AEREARHITERR TeHEE 9-99 g9 " |

e oo TYRG ARG T g7

(A) 1 1 2fF S (B) 2 1 1f3 S

(C) 1 IR 2 AT 3a7 (D) TE FTEAT TS
14. YA .

1. TSfa & g2 | =e orft 31
2. Wl % M UYeAlel ST e @ A 2

freafafaa o & foraert 1AM TR S HeRar 27

(A) U 1 HIF 2 I U9E B (B) o 2 U 1 1 U9E B

(C) o 1 o 2 § Toaa @ (D) =1g fafre frerd g 72 2

15. If MAN = 182, then CAT =7?
(A) 96 (B) 60

(C) 138 (D) 120

/2 /Paper-11/E 17 = [ P.T.O.



15. I MAN = 182 3, (98 CAT = ?
(A) 96 (B) 60

(C) 138 (D) 120

15. I MAN = 182 3%, (9 CAT = ?
(A) 96 (B) 60

(C) 138 (D) 120

15. @ MAN = 182, CAT = ?
(A) 96 (B) 60

(C) 138 (D) 120

15. Ife MAN = 182, @ CAT = ?
(A) 96 (B) 60

(C) 138 (D) 120

16. Identify the word with one pair of consecutive alphabets placed together.
(A) Perimeter (B) Rigorous

(C) Alphabet (D) Mariner

16. I TN GG YT G AF| *RACH] Dl 595 |
(A) Perimeter (B) Rigorous

(C) Alphabet (D) Mariner

16. ST YIRS 9o @A A > (b DEw T |
(A) Perimeter (B) Rigorous

(C) Alphabet (D) Mariner
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16. TEEN o« TREE ST 19 IHE BN gl g
(A) Perimeter (B) Rigorous
(C) Alphabet (D) Mariner
16. 39 I ! YgaH, fSrad IuiHTer o AT 18 ol Ush SISl Ueh |19 T 74T 2 |
(A) Perimeter (B) Rigorous
(C) Alphabet (D) Mariner
17. Which of the following pairs has similar relationship as School : Books ?
(A) Field : Athletes (B) Office : Files
(C) Auditorium : Audience (D) Table : Legs
17. RIS @G @R RWIER @ [For’ 7= 73 T T oo 2
(A) CeT %129 ¢ (I (B) SR : Fi2e
(C) (219 @ CeITel (D) % : 47T (CoR)
17. SHA @ (UIfba 7o “Rwery @ 392°-9q Weel 2
(A) P : GFroifm (B) e : 7@
(C) (ol @ Tl (D) (bR : =
17. TEEN o SKET R : faeeer’ sEfe a9 g g7
(A) IR : T FERICTRETER (B) TEGA : HISABR
(C) T&AT : AAUTHR (D) STRIT : ATFIHR
17. F=fafea & @ fora SISt &1 gey ‘T : frae & @9y o 99H 27

(A) HeM : Raaret (B) HEH : BIEA
(C) @UTER : &3ieh (o) (D) A : W
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18. Insert appropriate addition/subtraction signs to get a correct equation in the

following :
590 630 450 21 =98
(A) =, -, + B) +,-, -
€ =, +, - D) +, -, +
18. 590 630 450 21 = 98T ¥ A3 el e TS 1/ [l bz ke 79 |
(A) -, -, + B +,-, -
€ -, +, - D) +, -, +

18. 590 63 [0 450 21 = 98-9 G AF HFA ¢*lc® TR ol /el oz e weee |
(A) _7_7+ (B)+’_’_
(C) _,+7_ (D)+:_7+
18. X THHATEE! Tl ARSATE SN /e 1 fat see
500 6301 4501 21 =98

(A) -, =, T (B)+’_7_
(C) -, t, - (D)+’_’+
18. 590 63 1 451 21 = 98 | U THIHWI U & o foIu 3Fa Sig/=e@ o =% 2wl
(A) -, =, t (B)+?_7_
(C) -, t, - (D)+7_7+

19. Statements :
No women teacher can play.
Some women teachers are athletes.

Conclusions :

1. Male athletes can play.

2. Some athletes can play.
Select the correct option.

(A) Only conclusion 1 follows
(B) Only conclusion 2 follows
(C) Either conclusion 1 or conclusion 2 follows

(D) Neither conclusion 1 nor conclusion 2 follows
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19.

19.

19.

faqfs
@IC PRFRIEIE (4R (TR |
fogael PRl c9eea |
A

1. [P (XECAC (ferd I |
2. PRI CRIAC (AT I |

A RFECH! -1 5 |
A) &9 P 19 Toars 273 #11fF |
(B) (&9 Prag 2© e 2'9 (1< |
(C) Pram® 1 91241 29 | @Ic 9o Toae 2°9 17 |
(D) Prarg 1 ST 23 (FICIOCSS T9are 2/ TR |
9%
I PEFRIGTN (4eTee ATea =1l |
fog PEsRIal Groifm |
Pras
1. 7[F GIUfwEl (TS AICaH |
2. Tog FUfm (¥@1Ce “IMCa |
% Reaf v T |
(A) BEE FE 1 SpET T
(B) wyu@ F&® 2 SpET FCd
(C) = Prar® 1 91 Prarg 2 SFpiel e
(D) Pram@ 1 <. Prarg 2 Teme Sepiae w1
faegforer
e s BRIRERT Tt |
TP st BRI e sTemEerm |
AT :
1. a1 TR STERCRUTGRT T g3 |
2. WHEE AT TERAEITERT Tl g |
e fFrat arerg’ |
(A) 1 STERET JTEsTE
(B) 2 STE&mrETe HifsTee
(C) 1 TaT 2 e WIHSITeTa
(D) 1 TS 2 A HIHSTYTE TST
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19, =h¥q .

s ot Afgen R T8 v T |
F9 Afgen e Aehie 2)

e

1. T&Y Uuelie Wt Hehd 2
2. TS Uuclic Tat Tehd £

Tl foehed |

(A) hact frepd 1 fsherar 2
(B) haa fehd 2 feperar @

(C) 132 H T HE oft ush Frewd Fererar 2
(D) 1 3R 2 8@ =g oft frospd 7 Frepetar @

20. What would replace ??’ in the following grid?

C6 | F8 | 110
M5 | ?? | S9
R7 | U9 |X11
(A) O6
(C) R7
20. Zwe AU ‘27’7 IFw & 127 2
C6 | F8 | 110
M5 | ?? | S9
R7 | U9 |X11
(A) O6
(C) R7
/2 /Paper-11/E
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20. J @ 2we FAe-9 PP’ @ AfeToM T ACE 2

Co6 | F8 | 110

M5 | ?? | S9

R7 |1 U9 |X11

(A) 06

(C) R7

20. TEAM BRE P2 @l Al gHiA e

Cé6 | F8 | 110

M5 | ?? | S9

R7 | U9 |X11

(A) 06

(C) R7

20. feu U firg § 7’ i SR = Ame

C6 | F8 | 110

MS| ?? | S9

R7 | U9 |X11

(A) 06

(C) R7

(B) P7

(D) Q6

(B) P7

(D) Q6

(B) P7

(D) Q6
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21. I saw an ice cube in the kitchen which had already melted due to heat of a nearby

burner.
(A) Rarely possible (B) Often possible
(C) Impossible (D) Always possible

21. 33 IHAES AT €S Telo[® oAy ool @RI GBI I A1 HIRce] |
(A) e (2 e (B) ey 18

(C) =PiEa (D) “Wica %<

21. oI EECT 9B T T (refReTy A BfOACHR PR HiE wieel e ol |
(A) IR 3B (B) 2R &

(C) =P (D) &l 8

21. 3 AE@H TN 799 IFEEH GAES| Terell @HE s @ 7" Jai |
(A) TTeATETE ST g (B) TSR TSR SEYE

(C) HTsATSTe STHT TTET (D) W™ ST &=

21. H WIS | T 9% 1 gohel <@ S U o o i THT o TR0 fUee gt o)

(A) TAN &9 G 9G¥ T (B) 3T Hd
(C) T|va (D) EHIM 9vd
22. If ‘X’ means subtraction, ‘-’ means addition, 4+’ means division and ‘+’ means

multiplication, then which of the following statements is correct if calculated from
left to right, ignoring BODMAS?

(A) 8x2+5+3=12 (B) 7-2+3+5=13

(C) 5-4x3+2=3 (D) 3+2-4+5=9
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22. T )9 5 [eme), =9 9 @6, 49 9L 299 OF +F 9L 7{9 77, F I BODMAST
TR SIS I ST 2] CTIFIEACE SN 91 2, (0B TGN (TRl 95 8 A5

2'q7?
(A) 8x2+5+3=12 (B) 7-2+3+5=13
(C) 5-4x3+2=3 (D) 3+2-4+5=9

22. IW X’ [AE @RE, —’ @9 @RE, 4’ 6 @R G3R <+’ S0 @R/ @R IW BODMAS-¢3
TR TP FCE AN (ACE T S FA 2, O Aehd (@I [ T 2

(A) 8x2+5+3=12 (B) 7-2+3+5=13

(C) 5-4x3+2=3 (D) 3+2-4+5=9

22, §fd T THE@AM™, ‘= IETEHME, 437 TR AR <3 GHSTeH™ o, sl
BODMAST! a1 ARG AR 8 Sremsise TeEH o« fogfemm oam?

(A) 8x2+5+3=12 (B) 7-2+3+5=13

(C) 5-4x3+2=3 (D) 3+2-4+5=9

22, 9 x> w9 w7, — w Ad g 7, 4+ Hw A fawqem g IR 2w oaed om g, @
BODMAS & oM ! Ts3ES #Xd g¢ a6 ¥ a1 sl AR M0 i R Ffafad § @ se-d

rfirsafes wet 87
(A) 8x2+5+3=12 (B) 7-2+3+5=13
(C) 5-4x3+2=3 (D) 3+2-4+5=9

23. Bacteria : Microscope :: Planets : ?
(A) Telescope (B) Periscope

(C) Bioscope (D) Stethoscope
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23. @ERT : WHF A ;AT 2
(A) Btz (B) cofRcmel
(C) IR (D) Bl

23. W:Wﬁ"ﬂ‘m N
A) Gl (B) colfacmel
(C) AR (D) BRI

23. @ : e =T UR : ?
(A) 2ferewT (B) ufee®q

(C) mEw'T (D) ®a'®HT

23. SFIAT : AIERERT ;U ;P
(A) ferepm (B) ufwshm
(C) wTEREh (D) werehT

24. The same six-sided dice is rolled four times, and the outcomes are as shown below.
How many dots are there opposite to three-dot face?

(€) 5 (D) 1

24. 7Py quslh 96 oiER TR e Ferrere o[ fae myedd we @4 o9 |
TSR fSf-Rge 1 [7[{re e [Fms 7 =iz ?

(A) 4 (B) 2
€ 5 (D) 1
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24. 9 RI-FoFYS BHICP DI (Tl B G Fonel@fer oo bea it =2aer | fom -y 2
“jcod oo =0 A v =iz 2

(€) 5 (D) 1

24. T A T SEEE Gad TR S 30 o e gemfeme efsmm s orem

BIYTTHT G STl HiFer Biom g7
A) 4 (B) 2
(€) 5 (D) 1

24. TF TE-Hoish dlcl 9H S IR IR AR T, AR g e feem T sgEr 21 1 fag are

e ¥ Fa R g 37
A) 4 (B) 2
(©) 5 (D) 1

25. Select the appropriate set for correctly filling up the ‘?’ :
BAD : ? :: PINK : QJOL
(A) HAD (B) CBE
(C) CAD (D) ABE

25. 2’ Tozehl TSI 77 FRACa TR CA6es! o o |
BAD : ? :: PINK : QJOL

(A) HAD (B) CBE
(C) CAD (D) ABE
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25. 2’ o= FeIq a9 T Tl Toe @G fme F |
BAD : ? :: PINK : QJOL

(A) HAD (B) CBE

(C) CAD (D) ABE
25. '@l Y WA ANSNIE Y@l 99 |
BAD : ? :: PINK : QJOL

(A) HAD (B) CBE

(C) CAD (D) ABE
25. ?" @l TEl @1 ¥ WA & U 30 A = wL|
BAD : ? :: PINK : QJOL

(A) HAD (B) CBE

(C) CAD (D) ABE

26. Time by her watch when Neeta left home was 9:43 in the morning. When she
arrived home, the watch showed the time as 11:55. How many minutes was Neeta
travelling for?

(A) 72 minutes (B) 128 minutes

(C) 122 minutes (D) 132 minutes

26. 9 T99 “[{ SoR @GN RO ©RF OO TR Wifes O 9:43 I | ©R A9 q9 W

IS e [aNaX

CoIIRIA FTRTS TOICOICE 11:55 I (ryieee | i e Wb e A1 Jrar e 2
A) 72 ffH (B) 128 s
(C) 122 ff (D) 132 ffes

[m] 3= [m]
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26. T T4 AMT (AF (I 2 94 OF GfCe T FFE 9:43. I3 (7 AT Freafee, afeh swm
11:55 (4R | qrel T WChd & @l Feafee ?

() 72 fife (B) 128 s
(C) 122 ffH (D) 132 fifi

26. THEME @A wuE Ay afEme B 9:43 fon SEmme | Ssan e T wgE e afem
11:55 fom f&f=m | famn s@e fafe smfma?

A) 72 fufe (B) 128 fafte
(C) 122 fufe (D) 132 faf¥e
26. 3@ i1 = G Fehcll 1 3uh! B § gAE 6 9:43 I U1 I 98 W WA Al B W 11:55 H
wme o et o) i 3 fohaw fime 6 =mn i
(Aa) 72 fore (B) 128 fime
(C) 122 fime (D) 132 fime

27. Identify the correct Roman numeral.
(A) Thousand : C (B) Hundred : C

(C) Fifty : C (D) Ten : C

27. W% @ ARANCH! Foere 9 |
(A) TES : C (B) % :C

(C) #I%M : C D) w2 : C

27. 0% @ RGPS BiEe T |
(A) e : C B) e : C

(C) =™ : C (D) W : C
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27. 1§ WH @@ |
(A) TS : C (B) S™ : C
(C) & : C (D) & :C

27. HE UAT 37 e |
(A) &R : C (B) ®:C

(C) =™ : C (D) sg:C

28. My digital watch says 6:15 p.m. now, and the bus will leave in next 145 minutes.
At what time will the bus depart?

(A) Forty minutes past eight in the evening
(B) Forty minutes past eight in the morning
(C) Forty-eight minutes past six in the evening

(D) Forty-eight minutes past six in the morning
28. (T fUfecher wOIcbe «fea 6:15 p.m. I (w4@R wCy, WF “999 145 G A=Le 2zm
3 | o5 i oTRre AR 2w 9 2
(A) AR =0 e vfepd [t
(B) e[l =2 a1fe sfer fifive
(C) Al =7 IS wnonfar oo
(D) =@ =3 Afer Sz it

28. I ffEHe 9% @9 AT @R 6:15 p.m. @R 0T 145 RW@G 7 4%@ F9¢7 | 6 9
B P ?

(A) TN =061 (qee Sfar e
(B) IR GG (AC BfEp fXfIcs
(C) T =T (@FCe SNosart e

o 9

(D) T =0 (A0S SNGoEH Wien
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28. 11 fefea afen awe o1 afafafy 6:15 Rkt om s 145 ffye 3@ @wmm | s s@
e @e?
(A) TSt ared fom ofs fafea
(B) B area fom sfy fafera
(C) Tt g fom st grea fafiera
(D) $f 7 fom sfs a1e7 fafera
28. T fefoeat ot anft 6:15 p.m. o1 W 7, 3 31t 145 e & 519 @ anft)| 59 fohaa st
fehert?
(A) IH AT TSR AT e T
(B) GIT 373 iRt ATeid e T
(C) I BE I ISATeE e W
(D) T B aieh ASAT ™ e T

29. Identify the word not of the same group.
(A) Launch
(B) Breakfast
(C) Dinner

(D) Supper

29. (T (S5O qALF| *F7Co! BIE F95 |

(A) Launch
(B) Breakfast
(C) Dinner
(D) Supper
29. T2 (SBITS T G *A(b Diers e |
(A) Launch
(B) Breakfast
(C) Dinner
(D) Supper
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29. TEEE B a9 HIEET T STear?
(A) Launch
(B) Breakfast
(C) Dinner

(D) Supper

29. 3 Y& H TG Sl T & T I & 2
(A) Launch
(B) Breakfast
(C) Dinner

(D) Supper

30. Identify the pair of words which follows the same rule as Mercury : Planet.
(A) Horse : Stable (B) Milk : White

(C) Atlantic : Saltwater (D) Copper : Metal

80. 4 : 229 (3 AT R SRPE T X< @R e v |
(A) IR SERE (B) &M= : Tl

(C) NBeTfG= : FaAR el (D) ©F : 49

~

30. I : J2-9F (O GF2 RN PR T 2w (rwlf e F |

(A) =rY : WK (B) W : >ml

(C) =TT : IR &7 (D) ORI : 419
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30.

30.

e T S S " 94 : T S miE?
(A) TNE : T (B) TEER : TH
(C) 3meenfe : wRg ¢ (D) ™ : &g

Ieal % 3 SIS H TEAH W g4 : UE % GHM 570 1 qTeH e 2|
(A) 199 : A (B) 39 : O%g

(C) *TATH : AT (D) dfsl : org

31.

31.

31.

31.

Which of the following words is not a subset of PANDEMIC?
(A) CAN (B) RAIN

(C) MEND (D) DAMN

o 0N

TR (PFICH * PANDEMICS T#(sl5 w2 ?

(A) CAN (B) RAIN

(C) MEND (D) DAMN

Teoa @ 5 PANDEMIC-93 Top1eafe o7 2
(A) CAN (B) RAIN

(C) MEND (D) DAMN

M o« @eleal PANDEMICH e/ Siume T=1?
(A) CAN (B) RAIN

(C) MEND (D) DAMN
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31. f=fefaa & @ ®F-91 3¢ PANDEMIC 1 39ag= T& 27
(A) CAN (B) RAIN

(C) MEND (D) DAMN

32. In Pellamy, their words for blue, green, black and red colours are green, black, red
and blue respectively. At sunset time in Pellamy, what would you say the colour of
the sun is?

(A) Blue (B) Red
(C) Green (D) Black
82. RN CFe TP T, ETCER, el WF e 799 Aoy 91 PR FEE CIeSH,
T3, T Aol | e CoRTIN FRCFO® AT T I T < ot 77 = 2
(A) e (B) el
(C) oo (D) =1

32. (T IACICS T, T, PG GR T ACeH Gy OICHR * I IS, FICEI, oo 3R Tl |
CoRTINCS ST STRACES T e < <18 e 2

(A) e (B) I

(C) = (D) <FrceT

32. UAHAE STENTE, M, MEW AW TS TErEl BING WA, TEmE, TS 3T ST@re e |

AfsIfer TATE UeTfHATe AEE e /1 S ?
(A) TGN (B) =T
(C) Tmert (D) T
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32. JaHdt wie # i, B, Fa 3 a0+ e 399 s wEe: /@, Hd, A R i 21 3EH
Yot | TITed o THg § g %k T Rl AT T He ¢

(A) e (B) @

(C) = (D) ehTett

33. Statements :

All windows are floors.
No floor is tall.

Conclusions :

1. Some windows are tall.

2. No tall is floor.

Select the correct option.

(A) Only conclusion 1 follows
(B) Only conclusion 2 follows
(C) Either conclusion 1 or conclusion 2 follows

(D) Neither conclusion 1 nor conclusion 2 follows

33. [3fs :
spceT FAfRPIcER wfem |
(PIC e @ =727 |

Fram :
1. forgae RIS e

2. (I €4 qfew 12y |
Ao [FacH! oo << |

(A) &< Prag 1S Tore 279 o9
(B) &9 P 2 © Toere 273 “1fF
(C) Pram 1 =i Fram 23 @l Wbl Frass Toee 23 =17

(D) % 1 € Pras 23 @I Pramees Soee 2'7 @Eie
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33. fqfe :
I SR G |
CPFICT! (AR o151 o7 |
s
1. g et o7 |
2. (PG THR (A 7 |
Ao e v T |
(A) BYHIE P8 1 SepRel
(B) Wy« Frarg 2 SepiEel Feq
(C) = Prai® 1 91 Prarg 2 SFpiel e
(D) Framg 1 ¢k Brars 2 Tewz Sepme ¢
33. BREE®HR :
T RefawiE gemE |
Hi@e! grere St AT
EIELINEE
1. wraE fefawr st |
2. HHEYUE! MSET e TS|
e foeret wrrg’ |
(A) 1 SEIRETA’ HTHSTTE /TR
(B) 2 SEUWIET @ WIS /A
(C) 1 s 2 T Troitra AFEETe’ AT /T
(D) 1 THT 2 WHAST TS Hes AT /AT et

33. U9

ﬁi@gﬁﬁ,mﬁ§|

18 Bt F 7 R
ey -
1. o Naehmr 3= g
2. I a1 w1 A B
g T |

(A) Faw frskd 1 fieperar &

(B) aat frswd 2 forerern &

(C) 17 2% & g uh ferd fskeren 2
(D) 17 2 & & ¢ ¥t Freed e Foeren 3
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34.

34.

34.

34.

34.

If someone points at you and tells that you are the brother of the daughter of the
person’s husband’s wife, then how are you related to that person?

(A) Uncle (B) Father
(C) Son (D) Brother

AW T GOIP DS WA Sghr@E T @ e ¢R FeSRIFE TN 39 FOE
Y, (908 (12 I[P 100 AT 5= 5 2792

(A) @l (B) fre
(C) @ (D) °I9

@ I IR MeF 3ore F@ @R I @ WA C2 Ife TNE B9 (T ©i3, ©RE ¢
e I - T=9F F1 2

(A) T (B) <=t

(C) Creet (D) ©I2

Sfe | geet Fiff oifaan getsan, A1 it feomf it oty foer/werg| stsen i o
Sl | AIHE! ST

A) T (B) ferr

(C) fmrem (D) fort/darre

Ife 1S YT T I Heh Fed1 & 15 9 37 Atk & afdq il gt <t o & org &, @ amdem
30 =tk ¥ I Gy 27

(A) == (B) foar

(C) (D) S (1)

35.

35.

What would come in the middle when the digits of the number 4358796 are
reversed?

(A) 7 (B) 8
€) 9 (D) 5

4358796 ACHIA SFCHL0! STEAGILE ffCa TS eFeo! 6 2792
A) 7 (B) 8
<€ 9 D) 5
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35. 4358796 W6d W sfecs [eRre e (AcF et weaa =g Fi 263 2
(A) 7 (B) 8

€ 9 (D) 5

35. 4358796 IMHNSHIN THERHTRRE! el ®IiE feliset 9¢ GHSHRET TSd ST ?
A 7 (B) 8

€ 9 (D) 5

35. G 4358796 o 3okl ! 39S T = H hI9-HT 37k U7
(A) 7 (B) 8

€ 9 (D) 5

36. Suraj took one-third of a birthday cake. Half of the remaining part was taken by
Chanda, leaving the leftover for Tara. How much of the cake did Tara get?

(A) One-fourth (B) One-fifth

(C) One-third (D) One-sixth

36. T TAME (FF GO GF-PORI ¢l | AP T3 SHSF ©lol 712 (e S[MIE S S AT
G ¢ | T (FHCOA A ] S ©lofe Qe 2

(A) aF-DgRfie (B) G-I
(C) 9F-PoRIA (D) GF-TDIH

86. T (FCPFA o S0 @F ©l] oleT S | I SR SeeFo! =Wl 07 SRS W ORI &
(T O | O (TR0 T WA (HleAfRe ?

(A) GF-DoAiH (B) GF-~<eiex
(C) G-I (D) G-I

OO0
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36.

36.

G AAHEEEA Heht 1/3 aRFREl dmEl| s STHEEE SR e dEH ATt
TRAT ST | TR hebi~ ST SRR HE!?

(A) 1/4 (B) 1/5

(C) 1/3 (D) 1/6

TS | STFATE o ek 1 Th-ToeTs et foran| 9w wm § 9 e e =war 4 o fomn o 9w aw
% fo B1e fomm | arn 1 ek o1 foRa few i

(A) TH-=ATE (B) TH-di=al

(C) w-faerg (D) TH-T3

37.

37.

37.

37.

37.

If POND is coded as ONMC, then how will LAKE be coded?
(A) MBLF (B) EKAL
(C) PELA (D) KZJD

g% PONDF ONMC FFCed 1301 27, (9% LAKES (I ALFCod o141 2°9 2
(A) MBLF (B) EKAL
(C) PELA (D) KZJD

7t POND(F ONMC CF® @il 708 41 28, O LAKES (FI TS 71 F6® T4 A ?
(A) MBLF (B) EKAL
(C) PELA (D) KZJD

PONDf %el ONMC SRilsell LAKE®! HTsl % WAt ?
(A) MBLF (B) EKAL
(C) PELA (D) KZJD

g POND %I ONMC @hd & 3R gf=d foram Sar 2, @ LAKE o1 forg Hohd & gfaa fomen
STaT?

(A) MBLF (B) EKAL
(C) PELA (D) KZJD
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38. Identify the incorrectly spelt word.

(A) INCORRECT (B) INGENE

(C) INSOLVENT (D) INTROVERT
38. I ST% AF! *ACH! Bl F9F |

(A) INCORRECT (B) INGENE

(C) INSOLVENT (D) INTROVERT
38. ST IFFRS *RAH *+1G F |

(A) INCORRECT (B) INGENE

(C) INSOLVENT (D) INTROVERT
38. MUY M1 A oA |

(A) INCORRECT (B) INGENE

(C) INSOLVENT (D) INTROVERT
38. Toid a1t dTet Y162 ohl TEe |

(A) INCORRECT (B) INGENE

(C) INSOLVENT (D) INTROVERT
39. Identify the item essential for meal.

(A) Plate (B) Invitation

(C) Table (D) Food
39. T @ AQEGAR 20! ore F9 |

(A) 2 (B) femrze

(C) & (D) U™y
39. IZEA G ARG 20 Hiee FFe |

(A) et (B) ﬁﬂ@‘T

(C) &f@ (D) 2
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39. AERH AME@™ AR garat 6|

(A) orfE (B) BRI

(C) M (D) ST gel /@St
39. ¥iSH % foTu 3Tavash a%q i Te=™ |

(A) et (B) Fwzmn

(C) o (D) st |t
40. BECD : GJHI :: ?

(A) PSQR : TWUV (B) MNPO : QRTS

(C) ADBC : FIGH (D) CBDA : HGIP
40. BECD : GJHI :: ?

(A) PSOR : TWUV (B) MNPO : QRTS

(C) ADBC : FIGH (D) CBDA : HGIP
40. BECD : GJHI :: ?

(A) PSQR : TWUV (B) MNPO : QRTS

(C) ADBC : FIGH (D) CBDA : HGIP
40. BECD : GJHI :: ?

(A) PSOR : TWUV (B) MNPO : QRTS

(C) ADBC : FIGH (D) CBDA : HGIP
40. BECD : GJHI :: ?

(A) PSOR : TWUV (B) MNPO : QRTS

(C) ADBC : FIGH (D) CBDA : HGIP
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41. What will be the correct active voice of the following sentence?
“The sound can be heard by me.”
(A) The sound can hear me.
(B) I can hear the sound.
(C) The sound can be hear me.
(D) I can be heard by the sound.

42. What is the antonym of ‘exterior’™?
(A) Posterior
(B) Interior
(C) Superior

(D) Inferior

43. Find the best preposition :
The helicopter is flying __ the village.
(A) above
(B) around
(C) upon
(D) on

44. Identify the incorrectly spelt word.
(A) Basic
(B) Winter
(C) Recsue
(D) Micro

45. Choose the correct pronoun :
Raghav’s mother asked __ to clean the room.
(A) he
(B) his
(C) him
(D) it
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46. Identify the subject in the following sentence :
“The box is green in colour.”
(A) The
(B) Box
(C) Green
(D) Colour

47. Mark the synonym of ‘expose’.
(A) Uncover
(B) Cover up
(C) Arrest
(D) Distinguish

48. Give one-word substitution for ‘a ruler with absolute power over a region’.
(A) Prime Minister
(B) Chief Minister
(C) Traitor
(D) Dictator

49. Fill in the best option in the blank :

My mother is the inspiration in my life.
(A) bigger
(B) big

(C) biggestest
(D) biggest

50. Which of the following means to retire, usually from sports?
(A) Cast a ring
(B) Hang up the boots
(C) Fist of fury
(D) Up the beanstalk
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51. Which of the following is not a Fundamental Right?
(A) Right to equality (B) Right to freedom

(C) Right to digital information (D) Right to constitutional remedies

~

51. fRRTRNET (PICE! (qfers SHpE 7= 2

(A) TTOR SRFE (B) FETeR SfEFE
() ffecssr v wfgwa (D) RRAF dfeFa SiEFE

51. 7 @D G PR 77 2
(A) TSR HEHE (B) FRToH TfHFE
(C) Tefebm ™ wIfesE (D) RRAE dfodIas PR

51. TEEH & HAEAT [ HFATE TST7
(A) TUFY AHTE (B) 3eifa WiFeg
(C) Tefsea wnfifyr wmamg (D) wfsfsarik e AR

51. f=fefad & @ @F-u1 s Mot Afesr T 27
(A) THWAT 1 ATTRR (B) TE@HAT 1 ATIHR
(C) Teforea St =1 1ferrr (D) G 3T 1 ATTHR

52. Which is the capital city of the United States of America?
(A) New York (B) Washington, DC
(C) Chicago (D) San Francisco

52. SR I&AE (USA)T el 523 2
A) Tzt (B) QfActe, o
(C) foercan (D) =i FFITCR

52. R ISACET (USA) Asriel *128 1 2
(A4) frozas (B) emfRiche, o
(C) F=erCan (D) AREFIBPCE
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52, iR SoTg el (USA) 7 vt sr=r?

A) Fezd (B) afereH, fgo f&o

(ORMEEE (D) 9H HHEREH
52. T UsT IHNH (USA) I TSI 36T 1 27

(A) =TTk (B) af3mTed, Eto Hio

(C) fershrm (D) & witeEent

53. Who composed the poem Korotolo Komolo?
(A) Nilamoni Phukan (B) Mahapurush Madhavdev
(C) Srimanta Sankardev (D) Nabakanta Baruah

53. ‘T99s e FEAGID (PFICel oo FERE ?

(A) T P (B) W27 THIHA

(C) ANB IFaC (D) B I
53. ‘Tqod I FROID (& ool FCARCE 2

(A) Trerlel Fzm (B) WRI7FT NE[CH

(C) TN a0 (D) ETE
53. ‘WA A GH R 9r framE?

(A) FrerHfor g (B) WETERS HIEse

(C) fm= Tretas (D) eehTed e
53. ‘HAd HHA hiadl sl AT o $i oft?

(A) e g (B) WETgE HIRd

(C) »fiva srRtad (D) STEehid ST

54. Magh Bihu is a festival celebrated in which month?
(A) April (B) January
(C) October (D) March

54, WY {2 TR (@ T2 #7391 7 2

(A) @z (B) wieg@id
(C) SCFT (D) 6
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54. WY g TOWRH @ AT 1T 77 2

(A) «fe (B) Sl

(C) =FRA (D) w6
54. AT SHIRRE S/ SHETS BIfet?

(A) Tt (B) STgaR!

(C) IAFRT (D)
54. " fog fFe 7ER & wRT ST ATl @ER 27

(A) 3T (B) SHadt

(C) TR (D) =r=

55. What was the real name of Mahatma Gandhi?

(A) Mohandas Kumar Gandhi (B) Mohansingh Karamchand Gandhi
(C) Mohandas Karamsingh Gandhi (D) Mohandas Karamchand Gandhi
55. T2 SR AP 7 A 2
(A) G FS A (B) CRTZAPIR TR0 AT
(C) CrzewPT FINPR Sl (D) (I FINEIY SR
55. W2 AR AFS AN e 2
(A) =TT PR SR (B) (AP FIIOM STt
(C) Cr2emPT FILIRE, Sl (D) Cr2ewPT FANoM Sl
55. WeTHl MR Td g1 AHE?
(A) TSI FHAR Tref (B) Wehg HEHaT= e
(C) TEe™ FATGE et (D) e HTHES e
55. TETCHT Ll 31 ARedorh A8 FT 477
(A) TreTerd FAR TiEh (B) WigAfg ww=g Tt
(C) TreerE il i (D) HiEeTE HHwe e

56. Who was involved in the Kalinga War?

(A) Ashoka (B) Bimbisara

(C) Bindusara (D) Samudragupta
56. IR IT@© (T GO Aifee 2

(A) e (B) i

(©) P (D) TEzY
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56. I @ (F WUO [RCe 2

(A) ST (B) RfpT=

() fpm= (D) “TuBY
56. HIcHIH IEETSI TGl Aleal GHH?

(A) TT'H (B) fafremm

(C) forgam (D) HETH
56. el g H A IMHS o7

(A) =TT (B) fafrsmm

(C) forgem (D) ®YHTH
57. Who was the first Mughal emperor?

(A) Humayun (B) Aurangzeb

(C) Babur (D) Akbar
57. TSR (N1 FHG (e SR 2

(A) = (B) e

(C) == (D) S
57. =¥ Y1 76 (F foce ?

(A) TR (B) TS

(C) =S (D) S
57. fifafm gt wurer araE?

(A) A (B) 3

(C) s (D) AR
57. WY TEA A WHTE i 17

(A) g (B) st

(C) MR (D) 3R
58. When was Bangladesh created?

(A) 1947 (B) 1962

(C) 1951 (D) 1971
58. AT (oA A Cafee 2

(A) 1947 (B) 1962

(C) 1951 (D) 1971

O30
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58. JIHC I 9IS 2R 2

(A) 1947 (B) 1962

(C) 1951 (D) 1971
58. AR HIsAT HRISTSIEHIA ¢

(A) 1947 (B) 1962

(C) 1951 (D) 1971
58. TG e Tiod g3l AT?

(A) 1947 (B) 1962

(C) 1951 (D) 1971

59. Identify the incorrect pair of State and capital city of India.

(A) Uttarakhand : Mussoorie (B) West Bengal : Kolkata
(C) Chhattisgarh : Raipur (D) Goa : Panaji

59. TREIHT q[e0 WIF &L 5299 7 ({6 Hre w9 |
(A) TeHe : L2 (B) IMox<et : ool
(C) =AY : IRI7[F (D) CoIET @ TG

59. ST ey IR Gl *IZCAT P (EOIG XS Fepe |
(A) TeRe : OTE (B) IMoxet : el
(C) =fe™w : qR7d (D) (ST : =[FIr&

59. WRAM TRF TAT Tl AR THATEH S 9o |
(A) ITEvE : "G (B) T SIS : Shetehrd
(C) BeRATE : TR (D) & : GHETS

59. 9Hd o UsT 3TN YS9 L I Tead el ol 9g= |
(A) ITES : 7D (B) Ul SIS : hictehr
(C) BHETE : TIR (D) TaT : gurstt

60. Which of the following positions is appointed by the President of India?
(A) The Governor of a State
(B) The Chief Minister of a State
(C) The Speaker of the Legislative Assembly
(D) The Cabinet Minister of a State

60. RIS (FME! e e ereq qgefoc e 2
(A) rErE TS (B) ren<
(C) faurTem sk (D) e (D 9@
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60. T (T 7o e SReen A18o1f 2w e 2

(A) FCSHR ATSHITeT (B) Acena JX¥a

(C) RuFrTeR SiKr (D) ACera Tararee @
60. TEEM ¢ Y eHRrE! gretiiiEn e ?

(A) TSI SfT (B) T4 wesity fifer =t

(©) forem wwfy gfurfriz (D) eI e =
60. Ffefaa o @ forg vg it fgf wRa & Tgafa g <6 et 27

A) Treft =3 =1 TS (B) Torelt T=a1 w1 gt

(C) Taum awr =1 Tea: (D) et T =1 hfeme mft
61. Which statement is not correct?

(A) Visakhapatnam is a port city of Andhra Pradesh.
(B) Narmada is a river.

(C) Kanchenjunga is a Himalayan peak.

(D) Chilika Lake is in Gujarat.

61. (IO & uym 7 2

(A) TG SEHATEE @9 79 524 | (B) “Tfwl Q2= =71 |

(C) FIeeRql RHERE @3 %291 | (D) o= Zw weRIte S[Fe|
61. (I &b wm 772

(A) RETeeres SEATeE G 9@ 2 | (B) el @30 i

(C) FrepeTesq| AR G *R— e | (D) o= g% ¥&=Ih wHFe |
61. =& fagirn d@m?

(A) TremETETTT ST AN Sl AR | (B) THSHET WY <HT|

(C) =S feurer g fufaf | (D) forcent foremien TsRmamE |
61. FH-TT FHF Tel TE 27

(A) foTRETIH 3Ty Tew 1 Uk SEUTE el 8| (B) A9&l U ¢ 2

(C) s feuter 1w IR 2 (D) ot sfier Tora § 21
62. Which material is the ‘Gogona’ made of ?

62.

(A) Bamboo (B) Terra-cotta
(C) Copper (D) Buffalo horn
“ofafeTl” CPICHT AT A 591 2 2

(A) =2 (B) (GBI

(C) =™ (D) =29 i
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62. ‘ol (e o frc Cefd 2

(A) (B) comemil

(C) ™I (D) wfecw PR
62. ‘AT @ AT JEES SRR ST

(A) 3T (B) HEHR &

(C) amn (D) &Gt T
62. AT fore veref | o=ar 27

() =t| (B) @

(C) e (D) & =1
63. Which country did Nelson Mandela belong to?

(A) Brazil (B) Switzerland

(C) South Africa (D) Argentina
63. (T (O (FITe] (IS Ifeet 2

A) A (B) DESCAS

(C) W=l SifEFpl (D) SIS
63. (TP TICLE| (FIe (0 =T 2

(A) et (B) E&arete

(C) w=rer rifzFr (D) SCEBeTI
63. T AT o9 BEU-HA?

(A) ST (B) YEoIRaive

(C) @I ARt (D) ATSHf=T
63. dcud A fore e & A7

INBEIEIS] (B) feresieis

(C) Sfegor ST (D) AT
64. Which continent is the Sahara Desert located in?

64.

(A) Australia (B) Africa
(C) Europe (D) Asia
BRI TP (e TS SFS 2

(&) g (B)
(C) 2Tl (D) «fezm
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64. AN TFSH (FIe T2 TRTS ?

(A) TG (B) el

(C) 2T (D) «@fm
64. AEN SARTHET 96 SEHEE &7

(A) eT=fern (B) STTGeRT

(C) =W (D) ufern
64. Te AR forg weTdu # srafena 77

(A) srefema (B) SThIH

(C) = (D) TR
65. Which country is known as the ‘Gift of the Nile’?

(A) Egypt (B) Lebanon

(C) Israel (D) Saudi Arabia
65. (L (P ‘el i i Jfel Sl AR 2

(A) e (B) CoTameTe

(C) TEarZsT (D) (Bt ==
65. (I o ‘e o v e 2R 2

A) = (B) IR

(C) ZTERICE (D) O ==&
65. & gl At g A faforn?

(A) R (B) <

(C) =T (D) Gifg e
65. Tord 3o &1 it 1 IUR % AW U ST ST 27

(A) = (B) <A

(C) = (D) "l 3R
66. Which vitamin is vital for bones and teeth?

66.

(A) Vitamin D (B) Vitamin B
(C) Vitamin C (D) Vitamin A
T[T I WSS A (@Y FoIf oIS arcameei 2

(A) foIfss D (B) feoifs= B

(C) febifse C (D) fEBIfe A
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66.

66.

66.

I O 2T 8 WITeq &l ST 2

(A) feBIRe D (B) febifie B
(C) fevifie C (D) feoIfss A
=9 TorarfemT a7 TRl grenste uwa mAT St e

(A) farfem D (B) firaiftm B
(C) frarf C (D) firatfim A

Fr-a frerfi afit 3iv @il % e wEet 27

(A) faerfim D (B) faeifiw B
(©) faerfim C (D) faerfim A

67.

67.

67.

67.

67.

The normal blood pressure reading for an adult human is

(A) 65/85 mm Hg (B)
(C) 80/120 mm Hg (D)

& TR e[ AT TSHI7[ Freif e (202
(A) 65/85 mm Hg (B)
(C) 80/120 mm Hg (D)

PG| AR @S TS0 el e 261

(A) 65/85 mm Hg (B)
(C) 80/120 mm Hg (D)
A SR G e S -TRemE

(A) 65/85 mm Hg (B)
(C) 80/120 mm Hg (D)

T I WIS o fTC AT ThETT A @
(A) 65/85 mm Hg (B)
(C) 80/120 mm Hg (D)

95/155 mm Hg
65/140 mm Hg

95/155 mm Hg
65/140 mm Hg

95/155 mm Hg
65/140 mm Hg

95/155 mm Hg
65/140 mm Hg

95/155 mm Hg
65/140 mm Hg
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68. Which of the following IPL teams did Mahendra Singh Dhoni captain?
(A) Mumbai Indians (B) Chennai Super Kings
(C) Rajasthan Royals (D) Royal Challengers Bengaluru

68. =% PRy FEfEIe @M IPL %R SRy Sz ?
(A) TR ez (B) beE gl faeg
(C) TS TR (D) ICEI (HCEIGRR (IRAAEP

68. =T PR (Ife MHF @I IPL WCod S fReete] 2
(A) o2 B (B) oei2 71 fpe
(C) A&l ST (D) RO SICEGIH (TP

68. Teg fig oftan 7 IPL St Seafiiem?
(A) g sf=am (B) =3 guw e
(C) TSI Wed (D) WS =cistg sTe

68. T fie ot 3 Fferfiga @ @ form IPL S Y st i
(A) g gfead (B) == g fora
(C) TSI WIed (D) WIA <o STTE

69. As on 1st of January, 2024, who is the Minister for Panchayat and Rural
Development of Assam?

(A) Chandra Mohan Patwari (B) Ranjeet Kumar Dass
(C) Atul Bora (D) Urkhao Gwra Brahma

69. 2024 519 1 QIS MCICH SPTHS 7[R S AT @59 @ I 2
(A) ©% (1= AR (B) dfere g i
(C) wrgs <1 (D) T« (oMl =

69. 2024 e 1 QIR ACACE PN TS 8 AT I (F 2
(A) T™ (/= AR (B) wfere = woT
(C) wrge =l (D) TIHMS TR =
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69.

69.

T wE9E 2024 STgaRt aFfA 1 o9’ fawma sramf agmEa SR M St #fE aRaE
(A) =% Wed U At (B) =@ FAR I

(C) gt s (D) 3@ TR Sl

1 e, 2024 1 W % T=Ed T urHr faee w5 e 27
(A) =% digd geard (B) Td FUR I
(C) Iga s (D) I TR san

70.

70.

70.

70.

70.

Who wrote the book Runs and Ruins?
(A) Kapil Dev (B) Ravi Shastri

(C) Sachin Tendulkar (D) Sunil Gavaskar

Runs and Ruins <=3 Foio14e (@ foififee 2
(A) FE o= (B) 3R =z
(C) D oGP (D) 1 TSR

Runs and Ruins 9 436 (& fercafReet 2
() TPE o= (B) f =@
(C) =M cogerm (D) T oTerzIe

Runs and Ruins G foieat 9r feramm?

(A) FUa <= (B) e vt

(C) TfeM degarsr (D) G MHERR
Runs and Ruins J&ae foroa forei?

(A) U & (B) T wmeh

(C) e dgersht (D) Gfer TR
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71. In which language was Munshi Premchand’s novel Godaan written?

(A) Urdu (B) Konkani

(C) Hindi (D) Gujarati
71. I RO TP, MR, (I SRS forl e 2

() T (B) Cr=a

(€) == (D) @I
71. S (AR THRPT MM (I IR A 2

(A) o (B) TR

(C) = (D) @&l
71. YA YHETRE 9 W TEH @ Fe qaTd foEe Seme

A) 3% (B) hiskuft

(C) Tt (D) TSt
71. Tt g A 3T MEE R v | foran e on?

(A) 3% (B) hiskuft

() & (D) Tt
72. What is understood by Tsunami?

72.

72.

(A) A very powerful cyclone
(B) A major earthquake in the Himalayas
(C) Heavy floods in Eastern India

(D) High waves in coastal areas

peIS gfercat 6 el A 2

(A) s 2@l g (B) 2w 2 @ g2- B
(C) A e (B[Al G5 2A6Y T (D) Topel weeeTe (Al THAIEE (Ol
SIS FECS B R 2

(A) 4 et giofare (B) 1w 2eq @6 T SR~
(C) ~F ©RC® 287 Z[<e T (D) ToRPER TR & THAAR (BT
Og0]

-
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72. gAY gSTea w1 FRI?
(A) Sie T s (B) Temrer ersiiera et wifimmeRm™
(C) TS 9RdTd 7T a1 (D) <t T AFEIATE ST ST Sl STRaE
72. GATH | FA GHST ST 27
(A) T SEd TRRIC whaTa (B) Temmem # we a9t o
(C) gdf ura & wrt =g (D) d@tF &t § Seft ol
73. In Assamese literature, who wrote under the pen name of Saurabh Kumar Chaliha?
(A) Surendra Nath Medhi (B) Nabakanta Baruah
(C) Lakshminath Bezbaruah (D) Bhabendra Nath Saikia
73. CTSS FHIA o] RAICHCE (e SRl AlfRers - (Jen Sffee 2
(A) T T2 " (B) I T4l
(C) FRIY (@l (D) ST L XA
73. PR AR CTA® FIE Bferal R (P o1eees ?
(A) = T Y (B) TR ==
(C) =THI @Al (D) =% M2 *B
73. R FAR Ifeter § e foan swfien forfifen awm?
(A) Gy AfY (B) SEiehl-d s&al
(C) A&HHY Ssaean (D) oI5 1Y TEfRaT
73. A e § GRY FAR FATcTal o 39W § foper foran?
(A) gt ueft (B) Tahia a®3T
(C) A& ST (D) Wiz 1 afern
74. By which Assamese author was Mamore Dhora Tarowal written?

74.

(A) Rita Choudhury (B) Nirupama Borgohain
(C) Chandana Goswami (D) Mamoni Raisom Goswami
NG 491 SCERIE (ORI SO (T 51 FIRe ?
(A) e G (B) fereom qqeam2ifee
(C) Bl (AR (D) TN FT6% corg
OO0
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74. TR GH SRR (@ SPIRA ET4F A6 FCATRC 2
(A) Tt G (B) fereera q|comzE
(C) &Il Camrgian (D) el A2 s
74. ‘TR o0 @A @ gr e forfifen forema?
(A) Far =g (B) Toremmn = gTfr
(C) == ATt (D) =M™’ = T
74. TR 90 WA R rafEn dwes grn foret wE of?
(A) T =et (B) Toreqwn simeTg
(C) <& T (D) AT T TR
75. Which of the following has two humps on its back?
(A) Nilgai (B) Arabian camel
(C) Bactrian camel (D) Black panther
75. RIS @HGE Pile 15T 9 @i 2
(A) Ttz (B) =<9 To
(C) @3 T (D) @R
75. Feod (Ieioe eo qio $ e ?
(A) Tl (B) @A TH
(C) T2l (JIFE Th) (D) <iceTl foel
75. TR F9E oRgeTd WiH- o oY
A) T (B) W& 3
(C) SfFeanta 32 (D) T T
75. Tafafea # @ foraeht die W 31 Fag 27
A) e (B) &l 32
(C) e 32 (D) e dgam
76. In which city of India is the Charminar located?

76.

(A) Hyderabad (B) Chennai
(C) Prayagraj (D) Chandigarh
TAST (14 52O FRAR SRZS ?

(A) WM (B) vai2

(C) =[S (D) 58T
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76. SIRCST (T *12CH DIARMTR ST 2
(A) ZR@Rm (B) a2
(C) 2RIsRTS (D) BaT
76. TRFAR’3T YRAF o« T g7
(A) TR (B) =418
(C) SRS (D) =frgme
76. IRHHAR 9Rd % forg et § feorq 27
(A) THEE (B) =g
(C) TR (D) =EhTg
77. What is the length of a cricket pitch between the stumps?
(A) Twenty-two meters (B) Twenty-two feet
(C) Twenty-two yards (D) Twenty-two inches
77. TS BreopRs Wies (e #ihea ol ferer 2
(A) 3" o= (B) 3% T
(C) 2R oT& (D) 2m 3f%
77. IR T4 fGFh PIesd ol 9 2
(A) e o (B) b
(C) A sr= (D) iz 3fek
77. AR BRAM TSR 7 fRdhe e 9@ e e
(A) I fier (B) AR Pe
(C) A ™ (D) I 3f=
77. WO % = forehe e Y Sarg forat 2t 27
(A) =g Hi (B) STEH Fe
(C) amEH TS (D) a5 3=
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78. Near which landmark is the Atal Tunnel situated?

(A) Khardung La Pass (B) Rohtang Pass

(C) Sela Pass (D) Umling La Pass
78. (PO FAMZ (Landmark)d A71S 66 a9 TS 2

(A) e =1 farfere (B) cqrzeR fofge

(C) oo farfa=ial (D) THfere =11 forfaolel
78. S0e Y% (I T e (Landmark)-43 Fl2 SRES ?

(A) e = farfe (B) 2R fHifge

(C) et fafger (D) THfer =1 farfd=ie
78. A T el SR @i ?

(A) TR T (B) Tl U™

(C) T U™ (D) 3AfcT &1
78. 1 U fohg woa-faem o o smafea 27

(A) TRgT e T (B) gam &

(C) et =i (D) 3AfeHT o g
79. Which of the following is not extracted from crude oil?

79.

79.

(A) Petrol (B) Bitumen tar

(C) Kerosene (D) Turpentine oil

fafeTfren e ey ear (oeTq 711 g 541 12w 2

(A) 5= (B) SIeTredl
(C) I (D) wif¥fe coat

Awa @0 RN (@1 (AF TR F91 27 02

() Co1G= (B) SRRl
(C) CFCAPH (D) wIffq coet
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79. TERE THM 6 YATEl AaTe ATEHEE g e

(A) et (B) feglim wmmershr

(C) Ul (D) arfE o1&
79. Ffafigd § 9 S9-91 =1 9 ¥ T8t Hehrear Siar g7

(A) T (B) forgin =

(C) et =1 qa (D) AR = ad

80. Which of the following countries does Brazil not share international boundary

with?
(A) Chile (B) Argentina
(C) Paraguay (D) Peru

80. RIS (@4 (™[ (1o AMfes ABEIF A= =opf T 2
(A) fofer (B) SAICSGeTI
(C) CoRIBE (D) [

80. HItod (@ (™ifb A e Ifos ATl 7 2
(a) fofer (B) SICEo
(C) “NIISE (D) [

80. TMEMH T TTETE FIfSEN SRASIN R TeTan?
(A) Ferfct (B) ITSifT
(C) RTE (D) T

80. el fmfetfiad & o fopa <31 & @y 3ot STaig T @ren & =»ean 27
(a) foch (B) i
(C) W (D) ¥&

81. Who is considered as ‘the father of zero’ ?
(A) Chitragupta (B) Brahmadutta
(C) Varahamihira (D) Aryabhatta

81. (FFRIF! TGS *+4 G el ACTBeT 1 27 2

(A) Pasa (B) F=hwe
(C) =z (D) RIS
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81. *[(I &P FICF o 2 ?
A) ooz (B) FFwe
(C) == (D) =SB
81. | wfera ¥ farer B sren?
(A) Ferm (B) @
(C) =il DEEREH
81. T W Sk TRY WHT AT 27
INIREERE] (B) s@red
(C) =i (D) g
82. Between which two major water bodies does the Suez Canal lie?
(A) Mediterranean Sea and Atlantic Ocean
(B) Atlantic Ocean and Pacific Ocean
(C) Mediterranean Sea and Red Sea
(D) Arabian Sea and Bay of Bengal
82. DU IS (I Y51 LA+ TETeI9 TIers SqZIT ¢ ?
(A) PILPTISN S GBS T=PTI9IE (B) SIGSIGS TZPISR S 2518 219
(C) GHLPTAR S (MRS (D) SIRPTISR S ¢TI
82. S Y& (FI YL LAY ST N TS ?
(A) SRLPAR G3R HGADS T=IA (B) SAGAIGS T2PT9R €33 218 2RI
(C) PRLPTOE G (MRS (D) SRRPTONE @I IR
82. {US THHAT 6 TET3 AR TSR &7
(A) HET AT IR ATCATEH Il (B) 3TMEcATf=eh TATHT AR THT=d ITHT
(C) 7= Wl 3T dfed AR (D) 3TRE Tl AR s A
82. W AR T a1y sa-Feemt & = feoa 27
(A) WHET WFR 3R AR HEHTR (B) Fectifeeh HETEANR TR YIId HETR
(C) ¥ueT |FR 3R difed (ATet) |rR (D) 3WE |WR 3R AT sl @It
O30

-
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83. The Ajan Peer Dargah is located in which district of Assam?
(A) Dhemaji (B) Sivasagar
(C) Jorhat (D) Dibrugarh

83. I (P TEeIe & 7] w992 S_TS ?

(A) =& (B) R

(C) @z (D) fgare
83. SPICNR (JFIe (ST SIS TS 719N ST ?

A) (B) P19

(C) @==IB (D) fegste
83. WH R swmea smemH ¢ Semma €7

INICEIE (B) fomemw

(C) e (D) fegme
83. ‘IS WX Tume’ 3tEw & fore 5o 7 feda 27

(A) &St (B) feremmR

(C) SErR (D) fese

84. Who discovered Penicillin?
(A) Edward Jenner (B) Alexander Fleming

(C) Louis Pasteur (D) Isaac Newton

84. (?Ifbfer (T =NfaRR FfafReT 2

(A) GTErS (&I (B) SIERCSS[ GRS

(C) =2 “rE (D) 2T f+Ch
84. il (& wnfis Feafecer 2

(A) GOETS (& (B) SACTFEISE GFiaR

(C) =2 “rEa (D) i T
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84. Uffafcral ar fagtamm?

(A) TSEATE SHR (B) 3TcishsigR FATH

(C) g IR (D) e fH3eA
84. uffafer & @i fopem hi?

(A) TEFE AT (B) 3TcIeRiet Folte

(C) I =R (D) ATgsleh =

85. As on January 1, 2024, who is the Chairman and Managing Director of the
Reliance Group?

(A) Dhirubhai Ambani (B) Anil Ambani
(C) Akash Ambani (D) Mukesh Ambani
85. 2024 T 1 QIR CCF [REAES P9 SLF S DI AP (Pl 2
(A) HFeR ST (B) wIferst s
(C) =P S (D) C A
85. 2024 A 1 SRR ACACT [AIES MBI S G2 IIZI 2[RI (P 2
(A) TRz o= (B) ifelet Sl
(C) M| SrFIfel (D) cI S
85. 2024 AMAEH STgER TAF 1 @ fawe foma Mygat w0 amemen feenfi
AR ?
(A) fererd streanfa (B) A AT
(C) SATHhTET AT (D) ka1 ATEETH
85. 1 S, 2024 ®1 ‘Tamw ugg’ % w9y ’R ey e wF 87
(A) oEwTg tart (B) 31f3et e
(C) 3TmehTR Tt (D) HohaT e

86. The 2024 Summer Olympics was held in

(A) Tokyo (B) London

(C) Paris (D) Seoul
86. 2024 Fq AT SfT™[F SFP® (2R

A) BRFer’e (B) %I

(C) coifies (D) TeTere
86. 2024 =T IRI[F SRS 2CTRE

(A) cifrecs (B) =T

(C) W (D) Prew
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86. 2024 WRUTEH el SR ATl IR Sel
(A) zfh3t (B) &=
(C) ufw (D) fo=a
86. I 2024 1 WHHTCAA e foha T W AmRifSa forarm T on?
(A) TrEn (B) @&
(C) uf@m (D) T
87. By which community of Assam is the Tusu Puja celebrated?

87.

87.

87.

87.

(A) Tai-Ahom (B) Sonowal Kachari
(C) Tea garden community (D) Karbi

g[S SPIN (I SCANDIC #AleT ¢ 2

(A) BiR-wICEN (B) GRS F=/1
(C) B/ SeCaldl (D) I

(A) ©iE-SICEN (B) GRS SISt
(C) I JoN= =W (D) ¥R

TG IS AW Fel g s ?

(A) dTZ 3TTEH (B) & dTal HBRY
(C) 91 SRR (D) #Hifsl

9 IS 379H % foR9 WYE™ g AAR ST 87

(A) % TR (B) @HTeTe Farl
(C) = &N EHe™ (D) =hrsit

88.

88.

Arjuna Award is awarded for excellence in

(A) sports (B) cinema

(C) literature (D) tribal art
(P (RIS (10 2T 0T TG 0] 2 91 2 2

(A) Frel (B) focem

(C) e (D) GeTsTeR fogee
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88. (I (I (VY AT STy TGl TR (TSN 2F ?
(A) ceTIgET (B) et
(C) Mz (D) weTeTeR X
88. TS ATUME! 379 TAFRGES! WIS BH ST |
(A) THR SRR (B) W@EYA
(C) s (D) et 3Ry
88. ford faem & Iegpwan & foTu 319 QbR WM ot Srem 27
(A) T (B) femmm
(C) wilee (D) ST et
89. Leonardo da Vinci was from which country?
(A) France (B) Germany
(C) England (D) Italy
89. frsce! w SR @M< orR wnifee 2
(A) = (B) At
(C) =% (D) bre
89. fersacdl w fof @I (oo SIfrsh et 2
(A) == (B) e
(C) 2T (D) 2@l
89. fastHR’ a1 fuf<en o« gl 7aH?
(A) B (B) St
(C) Fve (D) sereht
89. forrrel e fa=ht for <o @ 97
(A) wE (B) s
(C) ¥ie (D) gecht
90. Which of the following is a hill district of Assam?
(A) Cachar (B) Dima Hasao
(C) Karimganj (D) Golaghat
90. FHIETRETIRT (T4 TP & I fErel 2
(A) Fr=E (B) o1 zr2)s
(C) <l (D) coreTrEG
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90. T (T TP G5 Sy (&=l 2
(A) TR (B) fou1 zpie
(C) feis (D) CoreTrs
90. TR FeaT EM gl foretr?
(A) BT (B) femt gmma
(C) T (D) T
90. F=fafiga & & FF-41 38w +1 ' Yt e 27
(A) FBR (B) fomm gamstt
(C) == (D) e
91. Who is known as the ‘Tron Man of India’ ?
(A) Mahatma Gandhi (B) Sardar Vallabhbhai Patel
(C) Ishwar Chandra Vidyasagar (D) Radha Govinda Baruah
91. (PSR Tfed TITOT (MBI’ Jfel &l TR 2
(A) I s (B) BWIK IEeSI2 (7[CH
(C) Prevm Wt (D) o™ I
91. (I “OHCed CeMeN+R’ f2era “Ifbe 2
(A) =l oAl (B) R IESS(3 IO
(C) v RwimTiod (D) FMCaNR™ =01
91. HR ‘9RaM @1 gy e i ?
(A) RTcHT el (B) WER Ty e
(C) | =75 faamamr (D) T Tferg s&a
91. ‘WA % g T&Y o AW ¥ foRd ST S 27
(A) weTeHT TIiEh (B) WER IgwTE T
(C) $aw=s formamm (D) T T e
92. How many spokes are there in the Chakra of our National Flag?

92.

(A) 24 (B)
(€) 18 (D)

IR B TR 5T [FITCE 7% AR 2
(A) 24 T (B)
(C) 18 T (D)

/2 /Paper-11/E 66

36

32

36 Ul

32 e
=%
O]



92. SNV SToR “[OIFR 5L Fb SF Al 1Y ST ?
A) 246 (B) 36fb
(C) 18 (D) 32f5
92. i Ul TRk T A= Tshatd Ta8 THHR &7
(A) T 24 (B) T 36
(C) T 18 (D) T 32
92. TR U tasl & =h § fohert dfiferat &7
(A) 24 (B) 36
(C) 18 (D) 32
93. Who is presently the Supreme Commander of the Defence Forces of India?
(A) Narendra Modi (B) Rajnath Singh
(C) Droupadi Murmu (D) Anil Chauhan
93. IS TR ARSI AR TS Il 2
(A) TT™ M (B) qrewa Big
(C) carim (D) =&t (e
93. JENC- SRS AfSTH AMf2aq FHETF & 2
(A) ™ (B) SN PR
(C) caefar (D) SIfere (B
93. 3ITORATAT WA WETTY BT Sifee A= Trergan ar?
(A) Tz T (B) T fow
(C) =t g (D) fre =em
93. TAHM H WA shl GIE U 1 Fai=T HHEL i 27
(A) Tz A (B) Ty fire
(C) =t g (D) et <ie
94. As on 1st of January, 2024, which two countries are at war?

94.

(A) Israel and Saudi Arabia (B) Russia and Ukraine

(C) India and Pakistan (D) North Korea and Vietnam

2024 9 1 SIS ACACTE (I 794 (7 TaT© (2 R ?

(A) TEEel S (B < (B) 2 I TTe@ea

(C) SRS IF N (D) Tex @I o fSabam
Oe=510]
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94. 2024 & 1 QRN ACACE (@1 76 o7 Jaa© SR ?
(A) TR €3 CNM IFE (B) AR @32 TG
(C) e GIR AT (D) Tex (SRR @R TSR
94. 2024 WEATEH SR TN 1 3Fe W™ e T TEThNT qEel AT G0 ?
(A) TEA AW WG 3RS (B) TR R 3351
(C) *RA TR Ifehe (D) T e AR R
94. 1 SHadl, 2024 H HH-H A I JE H &7
(A) TS AR ASal 21 (B) &9 3R Jehd
(C) ¥Rd SR qTfeREaT (D) I FIfen 3R e
95. Which of the following countries has ‘Ngultrum’ as its currency?
(A) Myanmar (B) Indonesia
(C) Bhutan (D) Vietnam
95. @eG (Ngultrum) CPIFe (9 YU 1 2
(A) TR (B) Frercam
(C) B (D) ST
95. Thd (T (O Y@K N ¥R (Ngultrum) ?
(A) SR (B) BCWICARI
(C) SO (D) oo
95. TEREE B 9 Be eigH (Ngultrum) SRl STer?
(A) HIEHR (B) 3= <R
(C) qa (D) Torrdam
95. TeeH (Ngultrum) ford 31 6t g1 61 919 27
(A) FER (B) FeHfmE
(C) ¥ (D) T
96. In which sport did Lovlina Borgohain win an Olympic medal?

96.

(A) Wrestling (B) Judo
(C) Taekwondo (D) Boxing
CFIIC! (AT STrSfefl TRCSIRICH WA= A =T fifes 2
(A) e (B) Heol
() BECeRICS! (D) IfEym
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96. (T (YT ST JACONZ[B G (D HARI9F 7 erCoiReer ?
() oE (B) el
(C) SR (D) T
96. T STTRIRTAT 58 SERIARHTTE At T T BTG ?
(A) THARAH (B) &
(C) drgehars’ (D) HremA™
96. AT STTETE 4 foFd Wat | 3Tcifuss qaqeh Siidn?
(A) et (B) St
(C) TN (D) gesST
97. The poem collection Xugondhi Pokhila was written by
(A) Nabakanta Baruah (B) Hiren Bhattacharyya
(C) Nirmal Prabha Bordoloi (D) Nalinidhar Bhattacharyya
97. “olfth AT’ TN S|4 DRI (2R
(A) TR I (B) 2 SHHR
(C) frsfarzrer gqweat (D) wIfereied SHHoRl
97. “Jsifd R FNF FSI-FFeTCTT TS 2T
(A) TR = (B) 2Icaw SHHR
(C) ferterzrel qamest (D) wAferis SEIHRl
97. ‘g ufgen’ g @ fose 9r foeramE?
(A) TEEHR TEET (B) ¥RA wgr=md
(C) et g et (D) Aferter swgrmt
97. ‘grift yfgen’ IH HiTa1-Eug % @ ¢
(A) T T (B) f& wermd
(C) Tdet wwT Eedrs (D) HAferier wer=m
98. Which sport is the term ‘Ring’ associated with?

98.

(A) Boxing (B) Football
(C) Swimming (D) Volleyball
‘a2’ *Chl (RIARY (YET CTCS SYe 2

(A) TETa (B) Fo=

(C) fcer (D) Sl
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98. ‘iR’ *fb (P LA MK TS ?

(A) 1= (B) Foe

(C) o= (D) feret
98. ‘I’ Higiael 9¢ ToiH™ JRRAEAES dlsdl &7

(A) GaEEE (B) Fead

(C) TmfE™ (D) wfersret
98. Tor vse for W W wafYa 27

(A) Hehasit (B) Fesiiet

(C) aTEht (D) acaic

99. Which of the following movies was not made by Bhabendra Nath Saikia?

(A) Krishnachura (B) Agnisnaan

(C) Kolahal (D) Sandhya Raag
99. FHRI® FM @ER[ S@% w12 =2 (wed ol F91 e 2

(A) FEwper (B) ‘wifaer

(C) ‘cremzer’ (D) ‘o= 197
99. HIHA (T HeIfba(b Scam =12 *3FR1 @dl ffife 72

(A) ‘FEper (B) ‘sifae’

(C) ‘cFrem=e (D) ‘st e’
99. TEMEM =&l HEYAE! Wel=s 1 WEfHATT Tagana?

(A) ‘FEr (B) ‘@it

(C) ‘Famed’ (D) ‘“wremE’
99. fr=fcifad & @ ®H-H fhen woig Ty Afckan gra T s mh oft?

(A) ‘P (B) ‘e’

(C) ‘wreea (D) ‘“@em wr

100. As on December 31, 2023, which of the following was the highest denomination
currency note of India?

(A) ¥2,000 (B) ¥ 1,000
(C) 20,000 (D) ¥5,000
100. 2023 54 31 6% ACACT SROS 25feTe FAfEF Joa Jal (A6 (T 2
(A) 2,000 (B) ¥ 1,000
(C) 20,000 (D) ¥5,000
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100. 2023 7 31 fUrTga T RS 2bfeTe FCOC WHF &0 a1 ¢T6 (I ?
(A) 2,000 (B) 1,000
(C) 20,000 (D) ¥5,000
100. 3N 2023 AEEM fdamr g 31 9’ fomE vRaE difoq e safgs feq i foemsan 5=
(A) ¥2,000 (B) 1,000
(C) 20,000 (D) ¥5,000
100. 31 fa@aR, 2023 FI WA § T=cIq TE 91 Joi o1 1 G1 A1 HiA-491 17
(A) ¥2,000 (B) ¥ 1,000
(C) 20,000 (D) ¥5,000
101. ‘Dokhona’ is the traditional dress for women of which community?
(A) Tiwa (B) Khamti
(C) Muttock (D) Bodo
101. ‘T (I TEVRE AP 279 G- (R 2
(A) fos (B) (e
(C) o (D) <ol
101. W (] TRV TR QfSZRIE! (oI ?
(A) foea (B) e
(C) oo (D) 3Tl
101. TEAET ¢ BN SAESIGRMA SRSTH THI?
(A) feem (B) wmfd
(C) W= (D) =
101. ‘T fore wgem Y Afgenel & aRafes g 27
A) faan (B) W@t
(C) w® (D) =t
102. Maniram Dewan was involved in which of the following?
(A) Peasants Uprising of Patharughat (B) Phulaguri Dhewa
(C) 1857 Rebellion (D) Quit India Movement
102. SR @@ FREERS FROR F6Te wive wifew 2
(A) 71209 75 [z (B) Fo&f@ @
(C) 1857 v fcurz (D) SRS Sf9l ST
O30
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102. RN (rexe FEfe @mbe M 7@ feem 2

(A) °IRFEICOR I [icarz (B) oY cxex

(C) 1857 aid f[curz (D) SRS RICT! AT
102. HRH EMET 6 HHEERATIS dles GHMH

(A) TRETE SATETETN AHEER (B) FerIi ear

(C) 1857 UHIATEH AHTETHRA (D) YRA MR AHEERAR
102. TRRW M Wi o

(A) TuEETe % e foge o (B) Bol gar ®

(C) 1857 = fage @ (D) 9N Bel AR §
103. Name the State in which the Thar Desert is located.

(A) Punjab (B) Haryana

(C) Rajasthan (D) Maharashtra
103. 29 IFY (FI MO SRES 2

(A) “ig< (B) =i

(C) Srerzle (D) =18
103. 9 FFPH (FIe T TS ?

(A) = (B) 2fren

(C) AeEM (D) w=2=1g
103. °R JTEMEI J¢ TS &7

(A) TS (B) wriEm™n

(C) TSEH (D) HErTE
103. 9N "&EyS e =g | ferg 77

(A) dTE (B) @f@mn

(C) TSTEIH (D) werrg
104. Looking from Assam, in which general direction is New Delhi located?

(A) North-East (B) West

(C) South-West (D) South
104. SPTE 7[5 PACE, Toe Mal (Pl Mo SafEs 2

(A) TeI-7[7 (B) %

(C) wiEwe-~o (D) wf=pel

(=] e ]
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104. P (TP T A Tod Mal (T WP S_FS 2
(a) TER-o (B) 5%
(C) wFe-[5x (D) wrawel
104. TieH fafgan sam Sefism?
(A) |T-HHSITRT (B) GHTeRT
(C) @IT-FHTae (D) @raTel
104. 31@F 4 @A W, ¢ fegl form feem @ foora ®7
(A) IT-gd (B) ufsm
(C) afeur-ufzm (D) afeor
105. “A person who sets up a business, taking on financial risk in the hope of profit”
is termed as
(A) capitalist (B) entrepreneur
(C) businessman (D) investor
105. ‘@S] wicq [ el 9= S« & S TR Biv 38’ (96T (@1 =
(A) “f&erfs (B) Towian
(C) =T (D) fRfercarmist
105. “‘qaea i Rl sces S o i 229 T 96 T Zi7w S’ Ol 961l =7
(A) “f&erfe (B) Twmre
(C) =T (D) et
105. YAwHI s T ot feren s aFieRn s wuet e get
(A) gismfa (B) T
(C) WTerThTR (D) EFYwm
105. @14 1 3 § ot Sifad IoTd g S ANk Hhig HaEE TG HLal &, 6 Fal A1l &
(A) Isfrafa (B) szt
(C) =raErht INREENES
106. Which of the following rivers flows from South to North?
(A) Subansiri (B) Manas
(C) Kopili (D) Ranganadi
106. ffIe (e w1 wiHee 71 Teq fwsite ¢ T 2
(A) oeffs (B) 2
(C) o (D) JgEm!
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106. 67 (I w1 7% (AT TeF 21Te 27 2
(A) S (B) PT
(C) et (D) FrEwem
106. TERTE EHF T8 SR GICTETHER TIET S8 ?
(A) gefaf (B) wHT
(C) it (D) TETe
106. Ffafaa # & HH-€ 7t Sfaor @ I At 3R a@dt 87
(A) geed (B)
(C) vt (D) T
107. The Assamese food item ‘Hurum’ is prepared from
(A) Tal jaggery (B) betel leaves
(C) bamboo shoots (D) Bora rice
107. PRI A ‘T 629 o[ oFe T4 7 2
(A) SIeT 8@ (B) “Nes “re
(C) dr= & (D) 41 5%
107. SPRRT A T (AT AFO T W 2
(A) ©leT 8@ (B) < @l
(C) TR FITa (D) R Bl
107. TEHAT SN ga1 TEW @l "SR Erer ¢
(A) T TR Heg (B) ¥ fereg
(C) frem Hag (D) HTEsIT AT
107. srafien @ verd e forad qam fomm S =7
(A) T TS (B) UM % U
(C) =T % IR (D) ST =T
108. A distinguishing characteristic of trade at Jonbeel Mela is
(A) only banana is traded (B) women are not permitted
(C) buffalo fight (D) barter system
108. (SFHe (Ferre Afaenq Fom CAFERo 29
(A) T P @I T =R (B) Wf2TR AT SRS 17
(C) T2 Iyw (D) R 2=
[=]3:
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108. (SR (NETR ST G0 Fog (A3 26
(A) SYII@ oI (@D 2 (B) Wfeerom Sfe (red 27 =
(C) 2R =13 (D) fafersw @i
108. SHfSEl HITE BIATHI GEram HiAd SgTea
(A) onfertfet’ IR BHEE™ ST (B) Testa®rr o=t 7
(C) e Hremrr (D) g GierE-giet’ @
108. Seficl Ut § AR 6 v fafirs fowmar = 27
(A) Hacl T T AR BT 2 (B) wfeamett it argafa T 2
(C) W =l 7218 (D) ag-fafmr wem
109. Dhokla and Fafda are traditional snacks of which State?
(A) Rajasthan (B) Punjab
(C) Gujarat (D) Goa
109. (U SF FIET (Fe AT {2091 ST 11 ?
(A) S (B) “gMd
(C) @AIb (D) CarR
109. (T G3R FI7E (@ AT AfS2R1D SR 2
(A) e (B) “li&®
(C) =&AD (D) carm
109. &l AR BIHETAT o6l LS SRISTH TISAT?
(A) TSRIH (B) =&
(C) Tsua (D) et
109. Thell 3R BIHST fohd T & TRUNG 19d &7
(A) TSI (B) USIE
(C) Tor (D) e
110. Which of the following is the Lower House of the Parliament of India?
(A) Vidhan Sabha (B) Rajya Sabha
(C) Lok Sabha (D) Vidhan Parishad
110. FREIRSTET (GG SRS FWq fWFwe ?
(A) farerTer (B) qrewTel
(C) et (D) R #ifm
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110. 59 (0 SRS FAWE a2

(A) TRepTS! (B) TSl

(C) CETTel (D) e ~ifam
110. TEEM e YRAN TUEH ™ 8 ?

(A) foram = (B) TS |

(C) < | (D) Torem uftwe
110. f=fafaa & @ F-a1 Y i g9 o fFeen g7 27

(A) Taeam g (B) TSF AT

(C) <k | (D) farem uftwg

111. Which of the following States is known to have highest coal reserves?

(A) Jharkhand (B) Maharashtra
(C) Karnataka (D) Mizoram
111. FRGRS e rere S e S9N Wi 61 Seers ?
(A) I (B) w213
(C) F(5% (D) ficeRm
111. T (T ACET A IR SIGE B2 08T Gl TR 2
(A) AT (B) =18
(C) o (D) fce=s
111, TR 59 Tgsiiere sgigs sifed S @i g g ffdsmn e
(A) FRETS (B) Hewrg
(C) Tl (D) ot
111. F=fafad § 9 SH-11 757 2Afwan siFer YR & o M7 Siran 27
(A) e (B) Wewrg
(C) Tl (D) firsTrm

112. Maibong was the capital of which kingdom?

(A) Koch Kingdom (B) Dimasa Kingdom

(C) Chutiya Kingdom (D) Kamata Kingdom
112, 2R (I & el e ?

(A) (IO Tey (B) e arey

(C) pom ey (D) @l e
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112. W3R (I ACEH AS 27 2
(A) 6 AT (B) T&IP1 T
(C) pher ey (D) Tl Aren
112. TEIST F6 TSI TSIATAHEA?
(A) = T (B) femmen s
(C) gfeen Tesi (D) AT TSI
112. #EaW fohE TsF il ToigHT oAt ?
(A) = T (B) femmn =
(C) i = (D) T T
113. Dandi Yatra was a part of the
(A) Quit India Movement (B) Non-Cooperation Movement
(C) Civil Disobedience Movement (D) Purna Swaraj
113. WIS] @l @R S ST 2
(A) SIT® Ol RS (B) SPTRCA! SICHIETS
(C) (2 SN SCHITS (D) o Fr&
113. TIf% @l (FEba o e 2
(A) SIS RICT FHCHIETCT (B) SPTREA HACHIETCT
(C) i3 S SICHIFCS (D) =< FaICE
113. TIfUe e 1 srRrEE |
(A) 9Rd TR GHEHA™ (B) THSTERIR HHEERAT
(C) ATE WIHR AHEEA™ (D) Tof TS
113. <iEl amn foroen fewan of?
(A) 9Rd BeT AR (B) 3TEEAN 3ATEeH
(C) Tfa = 793 ATEe (D) Ui &
114. Which of the following is not the name of a district of Assam?
(A) West Goalpara (B) Kamrup Metropolitan
(C) South Salmara-Mankachar (D) West Karbi Anglong
114. fagfe Q\‘Jﬂﬂé% (IOl SPTE GF TeeTq =11 w= 2

(A) IS o=
(C) W=l *ETI-TFI6F
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114. I @0 PR GFH (S TN 77 2

(A) MR (oISl (B) I 29

(C) W=Fel SAETIRT-TF6] (D) I I =neeiR
114, TEEH o= SEm o ey g T

(A) GIHTS TETTIRT (B) &Y U2 ufete

(C) Wit HITHRI-HTHHBR (D) GAT HIfe AT
114. F=fafga 9 9 -9 3 | & = et 1 9w 728 27

(A) dfem TETear (B) hIHET HER

(C) afeTur TTeTHI-AHHTR (D) Ut et AT
115. Which State lies towards the North of Assam?

(A) Arunachal Pradesh (B) Meghalaya

(C) Sikkim (D) Nagaland
115. SPTR Ted e (@< ey ShEe 2

(A) STFEIDT AT (B) CTRER

(C) f=few (D) «lCeTe
115. (P A0 PR Ted e ShES 2

(A) SREOTDST 20 (B) G

(C) fifesw (D) SIS
115. S TS ATEHN AT &7

(A) 3TEUEA TeNT (B) T

(C) fafen (D) ATTerE
115. 18| i I feen & we-a1 Tsg fora 87

(A) TRV YoNT (B) BT

(C) fufem (D) rTete
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116. The sum of the prime numbers between 1 and 20 is
(A) 77 (B) 81
(C) 85 (D) 89

116. 1 < 207 &® SLFS (eF AT 6T (302
(A) 77 (B) 81
(C) 85 (D) 89

116. 1 €3 20-3 ¢ AT (N1 MRANBFTR 6rFe] 2o
(A) 77 (B) 81
(C) 85 (D) 89

116. 1 3 20 TSTE aH™ Vet SRR S
(A) 77 (B) 81
(C) 85 (D) 89
116. 1 311 20 % &= i YT G&A=A H I 2

(A) 77 (B) 81
(C) 85 (D) 89

117. The quotient part, when 6001 is divided by 3, is
(A) 200 (B) 201
(C) 2000 (D) 2001

117. 6001 379 299 FECE 21 SIo/Fe] x| (202
(A) 200 (B) 201
(C) 2000 (D) 2001

117. 6001¢F 3 &I ©l5 T 3o ©laFe] o™ 3¢
(A) 200 (B) 201
(C) 2000 (D) 2001
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117. 6001W@ 351 THtsar, fafd Taméan

(A) 200 (B) 201
(C) 2000 (D) 2001
117. 5@ 6001 =1 3 @ fawfora foham sfar 2, A smrher grar @
(A) 200 (B) 201
(C) 2000 (D) 2001
118. The value of 1X2X3x4%5 is
1+2+3+4+5
(A) S (B) 6
c 7 (D) 8
1x2x3%x4x%x5
118. J 9 (2R
1+2+3+4+5
(A) S (B) 6
(C) 7 (D) 8
1Xx2Xx3%x4x%x5
. CERC
118 1+2+3+4+5 i =
(A) 5 (B) 6
€ 7 (D) 8
118.1x2x3x4x5
1+2+3+4+5
(A) S (B) 6
) 7 (D) 8
118.1X2X3X4X5aﬂmq%
1+2+3+4+5
(A) S (B) 6
€ 7 (D) 8

119. A person buys a defective item at ¥ 900, repairs it for ¥ 100 and sells the item at
¥ 1,800. His profit percentage is

(A) 100% (B) 80%
(C) 90% (D) 180%
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119.

e fec @b @ MR FI00© F FA, T100 W CRETS T WE AW
¥ 1,800% RfF 37 | (9€7 e o4 (20T

(A) 100% (B) 80%
(C) 90% (D) 180%
119. 3% e G FoFS THA 9008 T I, T 1003 @I (WNe Fea ¢} T 1,800
AT RfE 7 | [ wce o 7=
(A) 100% (B) 80%
(C) 90% (D) 180%
119. 9@ EEIT AFE TSR d@1e@ € 900 aFH & 1001 %™ ge™ | o saeE fs= 39
¥ 1,800 ®HhaT | faf gemesr Srar_rst
(A) 100% (B) 80%
(C) 90% (D) 180%
119. TF Hfdd TH @UF g €900 § TlEd &, 39eh! AU €100 H al @ 3R 39 %]
¥ 1,800 H S=IT 2| 38R o1w Ufdsrd 8
(A) 100% (B) 80%
(C) 90% (D) 180%
120. The sum of §+5 equals
6 3
(A) 5 (B) 5
€ - (D) 1
2 5
120. 3t T (2
6 3
(A) 5 (B) Y
5
(C) 3 (D) 1
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120. §+2—£@ 1T 2w

‘) < G

© > D) 1
120. §+2ﬁmmramw

‘) < G

© > D) 1
120. §+23h‘[?3ﬁ7[%

) < C

© > D) 1

121. Which of the following is not equivalent to 0-000014?
(A) 1-4x107° (B) 1-4x107°

(C) 14x107° (D) 0-14x107*

121. EfI® @G 0-0000147 ATgeT & ?
(A) 1-4x107° (B) 1-4x107°

(C) 14x107° (D) 0-14x107*

o

121. e @G 0-000014-98 Fger 71 2

(A) 1-4x10°° (B) 1-4x107°

(C) 14x107°° (D) 0-14x107*
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121. TEMEH == 0-000014F ToH A7
(A) 1-4x107° (B) 1-4x107°
(C) 14x107° (D) 0-14x107*
121. f=fafad & @ #F-91 0:000014 & SR TE 27
(A) 1-4x10°° (B) 1-4x107°
(C) 14x107° (D) 0-14x107*

122. What must be added to (a—b)? in order to get (a+ b)2?

(A) 2ab (B) —2ab

(C) 4ab (D) —4ab
122. (a+ b)? IR (a— b)?3 e & @6 F-9 1o 2

(A) 2ab (B) —2ab

(C) 4ab (D) —4ab

122. (a- b)%-93 3% FI @9 FAC (a+ b)? *1S A 2

(A) 2ab (B) —2ab

(C) 4ab (D) —4ab
122. (a— b)? S AE SSEETT (a+ b) 2@ 79T 8R=07

(A) 2ab (B) —2ab

(C) 4ab (D) —4ab
122. (a+ b)? IH A & € (a— b)? T 1 e Bme

(A) 2ab (B) —2ab

(C) 4ab (D) —4ab

123. 1+1+411 is equal to

2 3
12 13
(A) 3 (B) 24
13 24
(©) 12 (D) 13
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1 1

123. 2+3+i§W2¥§
" 1 B
© o) =
123. l+l+l_¢@ C19IRFe] 29
2 3 4
" 1 B
© 5 o) =

123. 1+1+lﬁaﬁ|mr@msnam

2 3 4
" 1 B 5
© 1 o) =
123. ?ﬁﬂl+l+lw%
2 3 4
" 3 B 5
© o) =

124. The length of one diagonal of a rectangle is 5 cm. If the ratio of the length and
breadth of the rectangle is 4:3, then the perimeter of the rectangle is

(A) 25 cm (B) 14 cm
(C) 12 cm (D) 16 cm
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124. <5l SRCHAT G5 9 ) (2R 5 CB.f. | AW SRCHAnE T W 2% ST 4:3 =,
(OCB SROCFAOR 2[R 277
(A) 25 5.1 (B) 14 (5.1
(C) 12 .[. (D) 16 (5.1

124. @3 SROCFHE G0 I i 5 CLF. | AW SRecwang (¢ oA0E WU 4:3 =],
TR SReCHAn AR 2@
A) 25 Gif. (B) 14 @i.fi.
(C) 12 Gif. (D) 16 G.f.

124. 9 IEAH GERME AEEE 5 8.0 g O aeur o sRemh wgumn 4:3, 9 A
grfife fmmen s9?
(A) 25 9.fi. (B) 14 §.fu.
(C) 12 a.fu. (D) 16 @.fu.

124. T% G & U ool f &amg 5 To ™o 7| AR mrd it Targ 3 <ier #1 3gUE 4:3 T,
a3 1 g
(A) 25 To Hio (B) 14 Wo Hio
(C) 12 To Hio (D) 16 o o

125. 10 coins, each having circular surface area of 24 cm? and thickness of 2 mm, are
stacked one over the other. The volume occupied by the stack is
(A) 48 cm? (B) 480 cm?®
(C) 240 cm? (D) 42 cm?

125. JeE 3l 24 39f 6.5, oF 2 R.A. @@ 1000 0 GoF $7F© SFGIT a2 bl B2l JE

9 27 | GBI A 91 SR 25
A) 48 ¢.f1.3 (B) 480 5.fi.3

(C) 240 ¢.f.3 (D) 42 .3
Ofg0]
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125. 24 3of CLA. FeE 7 cFage 98 2 W6, goro-[RFE 1006 q@ 9tF S Tom geied
Q41 2 | AABH Ak S4F© ZICTe Hoee 25
A) 48 ¢1f.3 (B) 480 ¢1.:.3
(C) 240 @13 (D) 42 @1.f8.3

125. 24 9.f0.2 @A fog Teamsiy o 2 fi.f. dsmems T 2F 10 TeEiErE! SeEEE e
EEIcPEEREUIERICEES I
A) 48 u.fu.3 (B) 480 @.fq.3
(C) 240 u.fa.3 (D) 42 @.fg.3

125. 10 T, ys & MR Tdg 24 Fo Ho 2 F W WerE 2 firo Mo 7, TH-g & T TH & &
w9 W T F| S FR A AT ARG 2
(A) 48 To Hio3 (B) 480 To Hio3
(C) 240 To Hio3 (D) 42 Ho o3

126. If one of the angles of a right-angled triangle is 35°, then which of the following
represents an angle of the triangle?
(A) 40° (B) 45°
(C) 50° (D) 55°

126. (I 9F A [qged bl @[ T 35° 2w, fFafiie @ [ aoeor =im « ol
(IR A SOl e 2
(A) 40° (B) 45°
(C) 50° (D) 55°

126. 431 el fageem g3 @l 35° 7w, v @R e fagsibn ww g3 i
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126. HHE AT A=A 998 TR 35° s, MeE s o T Miaderd 1 Sa?
(A) 40° (B) 45°

(C) 50° (D) 55°

126. 3t TH THR Be #1 UH w0 35° g, a1 FEffad @ @ wF-w 389 Bys %t & o

I9Tiar 87
(A) 40° (B) 45°
(C) 50° (D) 55°

127. The angle traversed by the hour hand of a clock during a period of 2 hours is
(A) 30° (B) 45°
(C) 60° (D) 90°

127. <5 I IBIF FIOMOCE 2 I6] FNTe SOy 91 (FIE T+ (302
(A) 30° (B) 45°
(C) 60° (D) 90°

127. 2 95 AIICE G0 9 9D FIOF A0 SoFq F41 (el 26
(A) 30° (B) 45°

(C) 60° (D) 90°
127. T 9RH == a1 geel 2 IEERAE 9uTd SHel ST ST STEErEe ¢
(A) 30° (B) 45°

(C) 60° (D) 90°

127. 2 9 i 7afyr & <A =l il =2 Al gE gr a7 form mm oy 2
(A) 30° (B) 45°
(C) 60° (D) 90°
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128. A shopkeeper offers two consecutive discounts—first 10% and subsequently 5%
on a certain item. The equivalent discount offered on the item is
(A) 12:5% (B) 15%
(C) 13% (D) 14:5%

128. GO (TR @I GF AFATS GARIEFSCE [OIF—2A0H 10% IF 273 5% ([F22 27
B | HANCHTS 2WIe P TGN (229 T+ (22
(A) 12:5% (B) 15%
(C) 13% (D) 14-5%

128. G3e (AR SR b =T G9is [E ARAR TR amie SE—a=Wh 10% 9R AR
5% . AT T2k 27 TN TGN BT 2&
(A) 12:5% (B) 15%
(C) 13% (D) 14:5%

128. ¥ RN Y SHEH HEE HIE 74 @ SRI—EesT 10% A/ 6 5%. o S|E
BRI EID RGPS
(A) 12:5% (B) 15%
(C) 13% (D) 14:5%

128. TF FHMER THh I&g T FMAR a& B2 qal a—T8d 10% 3K & H 5%. 39 a%g W & 9 areft
I T B
(A) 12:5% (B) 15%
(C) 13% (D) 14:5%

129. The equivalent fraction of the decimal number 2:25 is
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129. WS AL 2-259 TG SAKT T+ 2]
9 9
A) — B =
® B
9 9
C) = D =
© - D)
129. WP R 2-25-9F TgeN BIR¥ 28
9 9
A) — B =
® ®) -
9 9
C) = D =
© - D) ¢
129. ek AR 2-25F THM SREE@RERT SHTH
9 9
A) — B =
® B
9 9
C) = D =
© - D) ¢
129. AT W 2-25 1 THIeH {4 B
9 9
A) — B =
® B
9 9
C) - D =
© - D) ¢
130. The total interest accrued on the principal amount of ¥ 10 at the simple interest
rate of 10% per year for a period of 10 years is
(A) ¥1,000 (B) ¥100
(C) ¥10 (D) 1
130. 2R 10% @ o T 10 T 10 T2I© & I 2 &9 AR C202
(A) ¥1,000 (B) ¥100
(C) ¥10 (D) T1
130. eige € 10-99 Tof AR 10% o1 0 Bed 10 T2 SIfere (NG e “Afe 2e

(A) ¥1,000 (B) ¥100
(C) ¥10 (D) ¥1
EIFREE
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130. A ¥ 10f T FERE 10% TRt g8 g 10 SR ST gar S

(A) €1,000 (B) €100
(C) 10 (D) ¥1
130. 10 ¥ it 7@ o foow wfd ad 10% & TR0 = R W T 10 i gd TR | AT o A @
(A) €1,000 (B) €100
(C) ¥10 (D) 1

131. The angle between the minute hand and the hour hand of a clock at 3:00 p.m. is
(A) 30° (B) 60°
(C) 90° (D) 120°

131. f3f 3:00 I&Te GBI IO [EGT BT S g9 FHBIF ST (@G 2

(A) 30° (B) 60°
(C) 90° (D) 120°

131. e 3 9w «fh afla NG F161 @R T6R FOR & TR (@16l 2
(A) 30° (B) 60°
(C) 90° (D) 120°

131. S@maH 3:00 FmEmE T i WfHe g i g g9l SeHE ST 7=
(A) 30° (B) 60°
(C) 90° (D) 120°

131. ITE 3:00 = Tk =Sl 1 fife i g3 3R =2 Al g o o= 01 0 g
(A) 30° (B) 60°
(C) 90° (D) 120°

132. The two angles of a triangle are 75° and 65°. Twice the measure of its third angle is
(A) 40° (B) 50°
(C) 60° (D) 80°

132. @I @F fG9ed {5l (@R q71 75° AF 65°. T[ PoR (T N[ 189 (37
(A) 40° (B) 50°
(C) 60° (D) 80°
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132, (@G G310 [qeced qb (@R #F= 29 75° @3 65°. B2F Tor (IR ~RACH @ 2
(A) 40° (B) 50°
(C) 60° (D) 80°
132. AMEFUm TR q9T G JHT 75° AR 65°, UMY T B SR
(A) 40° (B) 50°
(C) 60° (D) 80°
132. TH B % q H0 75° 3 65° % 2| Tk @ HI0T AN AT W @
(A) 40° (B) 50°
(C) 60° (D) 80°
133. The area of a triangle is 18 square units and the base of the triangle is 12 units.
The height of the triangle would be
(A) 15 units (B) 9 units
(C) 6 units (D) 3 units
133. (I 9 fagea cvawel 18 of 9o¢ Wi 3N 12 9459 | {qpsctE Toel 2’7
A) 15 953 (B) 9 &%
(C) 6 9= (D) 3 3%
133. 410 faqgeem cFaws 18 35 43 @<k fageita 3 291 12 353 | fagsiby Twel 2eq
(A) 15 &% (B) 9 3%
(C) 6 9= (D) 3 &%
133. AR WA FHIfern 18 s dfe TR SMmT 12 TFfE | o STt Siremsan sieei?
(A) 15 @A (B) 9 &M
(C) 6 w=Tfe (D) 3 @&FfE
133. TF 34 1 &bt 18 o 318 & TR Frgs =1 smem 12 36 21 Fragw < S B
(A) 15 Tt (B) 9 Tt
(C) 6 7S (D) 3 FrE
134. The Roman numeral for the decimal number 59 is
(A) CIX (B) DIX
(C) LIX (D) MIX
134, W\ 47 599 A @I FR4T (202
(A) CIX (B) DIX
(C) LIX (D) MIX
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134. 7R MY 59-99 (NI TRIPHF 25
(A) CIX (B) DIX
(C) LIX (D) MIX
134. < smfsmr 596 @ smfsmmn
(A) CIX (B) DIX
(C) LIX (D) MIX
134. SIHEE §&A1 59 & folu A9 o7 7
(A) CIX (B) DIX
(C) LIX (D) MIX
135. A sum of 90 is distributed amongst A, B and C in such a way that A gets ¥ 2 more
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